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Abstract

Sign language is one of the methods used for Deaf people to communicate with
hearing people. However, only a handful of hearing people can use or understand
sign language. The number of Deaf people in Japan is 340,000, but there are only
less than 50,000 people can support them, such as sign language interpreters and
summary scribes. The shortage of sign language interpreters is one of the critical
social issues. Moreover, the words we use are constantly being updated, so sign
language must adapt to the new words. Research on automatic recognition of sign
language is progressing to solve the problem. In recent years, because deep
learning in the field of Al research is rapidly evolving, research on time-series
recognition from images and moving images are also in progress. The recognition
accuracy has dramatically improved. In order to deal with new words, however,
we focus on the next most common method of communication, characters such as
air writing (Kusyo). Kusyo refers to writing characters in the air without using a
brush or paper. This can be written mainly with one finger. Kusyo is often used
when it cannot be represented by sign language words or finger letters, or when it
is necessary to convey that “shape” has meaning. Also, this is faster than sign
language for simple interaction with hearing people. Therefore, an environment
that can automatically recognize Kusyo is required as well as sign language.
However, there is not much research supported up to Kusyo.

The purpose of this research is to extend the range of automatic sign language
recognition by developing a method for recognizing Hiragana’s Kusyo written in
front of a monocular camera using deep learning. A monocular camera can be
installed at a lower cost than a dual camera, so it is easier to set up the environment.
We also aim to develop a non-contact environment that does not use special
sensors other than cameras.

The Hiragana used in this research consists of 50 characters (excluding & and
2.), 71 voiced and semi-voiced characters. There are three research questions in
detecting and recognizing Kusyo. 1)It is not possible to identify where to start
writing and where to end writing since it is an aerial character, 2)It is not know
the line cut (between the first and second strokes) because it is a one-stroke, 3)It

needs to prepare because there is no data of Kusyo by Hiragana for learning.



In this research, we developed an image of Kusyo and identified Hiragana by
CNN. First, a region of a hand using colored gloves is detected, and a feature
amount is extracted. These features are used for the following purposes. One
is to set the start and end points for writing based on the feature amount on the
screen. The other is to take the center of gravity of the hand area. By displaying
the trajectory of the center of gravity, Kusyo was reproduced. At this time, the line
toward the upper left direction was deleted, and the line cut was reproduced. In
the experiment, these uncorrected data and corrected data are compared. Next,
the obtained trajectory of the center of gravity is output as images data and cut
out. The clipped image data is sent to the discriminator. In the discriminator, we
use CNN that one of the deep learning. In addition, we use the fine tuning which
allows learning with less training data. It uses ResNet for the network. Finally,
Hiragana was identified from the result of the output from the discriminator.

The data to be learned was a hiragana’s Kusyo by the participants using a video
camera. In this research, we set up a camera in front of the participants and
acquire the image of the hiragana’s Kusyo because we often see a face-to-face
when writing it. Kusyo is a part of handwritten characters. Handwritten characters
include cursive writing. For this reason, we also conducted experiments that added
publicly available handwritten character data to the learning data as well as Kusyo
data collected from the video. Since the handwritten character data is different
from the Kusyo data, the recognition accuracy may decrease depending on the
difference in data amount. It was added in three patterns. In the comparative
experiments, we compared a total of five models: a leaning model without
correction, a leaning model with correction, and a leaning model with handwritten
character data divided into three patterns and added with correction.

We have obtained generalized results by using 5-fold cross validation as an
evaluation method. In the experimental results, the discrimination rate was 96[ %]
without correction. There were an identification rate of 97[%] with correction and
98[%] when handwritten character data was added there. We got good results by

the effects of correction and handwritten character data.
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WA FEHEEFICEEML Tnwa, CNNICK 2 FEZ 0 HAGEZFICOWT
1% < Difge [10] [11]23 3Tk Y, RIFFETIE, EELFHFZILFLEML
TWwpZeitEHL, XF#iic CNN 2w 3

CNN O 8 %2175 729 1cix, KRBT — 2348k 3. KEDEED
Byl - WR 7T -2 2HET L LIIRECH L L FEZOLNL -0, REFTIID
TWFEET =2 CHEEPMTAE 774 v Fa—=v I E2H0S. 72, 774V
Fa—= VI EITI DDFEEET VI ResNets0 2\ 5

FPET -2 EHEBET HICHRC, BEPFHEELFICHBUL WL I LrbAR
FEERCIEHOIET — X IEM L THEOF T — X & H 72 EB S BT+
%.

3.4.1 ResNet50
Residual Networks (ResNet) (X, 2015 £ ILSVRC Tt v 7t ixo7z
Kaiming He 504 v F7—7 [12]TH 5. —fxiyic, HE2RBEDOLE= 2 —
INAY T =2 BB =2 =Ty P72 XD DBEREL LD
2, HEVICH L LT E D LAMHAMES A LIBE BT 2. 74 -7 7
—= v 7 OEFICE T, &8I L ITEU LB OM 1TV, AR ZER S
2L TCHEAZTHABRLTCHEY, BEEPLTES LWOPOBEREL AN TE
THREZBHEAZ T E W DD 5. ResNet TIHHEOLA Y PV —27D LX)
i, AL b QM7 ey 71T X 54 F)Z HFHIC RO ICE L T DT
X7, 2O T ay s ~DA x> a— b Ay bL, HO)=F&+x XD
JEICHEST TN T w3, 2Dy a— Ay b EEDZUEEA % residual
Y 2 — e ResNet Tlx, ¥a—rAh v b %L T, backpropagation
FICARAEETE b o Tl s itk Y, EFICHEAY PT -2k
WTHBENICFENTE L L1 o T,



342 774 >Fa1—=>7% (fine tuning)

77 AvFa—=vred Broesro—-HERAHL, HiLueT L%
MRS 2FETH 2. BB IIEBROFHEO KN Z L 22TV 5728
HEE SR 20T R, BEOBICR2I13E, X BRNREEERZ 2 X9
W7o T30, EOATHFEIGTLILETHLWVSY 7 X E#BITE S
X2k s. NIl HET 2> 28T, BnlzbHDOET
NETERET LB TES, F7, EFARMERRICE, 127923570 ET~
BIHDOIT — 2 BBBICRDD, 774 v Fa—=v I Z2Hws EEEEC
M T =213 1 27 2BV EH~HE OB T — 2720 CceET A 2/E5 C
ENRTEL70, KIROIIICHETE 27— 230 e EICIXEHTE
LB bns,

341 FEXXFET -ty b

HERIXFOEHEETO—2THD. MNdIIHICEIPNLILEDE HE
EREIXFOUNHPBER > TWBE IR HD. £ Vo -HERZEDZ0H
BHEDOFEELFOWEBRET —£ 1y b 1BIBRFHINTV L0, KEKTIX
AT — 2 EmL, T — 2 2fio 724 175,



AT EER

4.1 ZEBREM

AWFFETIE, 3.1 THEALEZ7e—F v —FicllY, EEET-> T, EER
ICHW 2 72D FHFTHEfR & L CHEFOBE T — 22 LD 5. BET — X205 XF
Wik D= DEE T — 2 2B, FHETAERERT S, 2L TOL R —F
T O DILFRIRD T &2 1T 5 .

¥ 77, EHEIBEITOZDICIIFNELZ 3 2OHEELD o772, T o OFHE
~NDOFRFFED BT L

4.2 RERT — 2N

9, EHOBNE T — & B{ES 20 ICiRE 1T 50 H(h, 2%ERL), EWE -
HEZT D T LFDZEELRT->TH b\, 20T 2T ONHICHKEL -8
THAAATTRE L. H2ILHEROEME2HK—T 2 -0 1cEifT — % DIL
ERTRTHEND 1 ECiTo7z. £72, #BAORCLFRRI LR VWE ST
27201, 1 XTI 2EFCHBEZ BT TENTHH I X HIiC L7z BlT —%
INEDERBEIC DO WTX 4.1, INETE -8l 7 — 22 505 L 2l§RT — £ %X
4213, F7, TZINEICHWZET A A A TICOWTIIK 4.3, ©T 4
H1 AT DVERER OV EERERFOREICO VT, TNFNFK 41, K42 I1TRT.

ZREEITOIE, ©T 4N ATOEEL TV LHHNTIT>TH S I BERD
5720, REBRTIE, M43DXSICETAHAIATDT 4 27 LA ZlaEflic
MY, ZEEPHEAEMNICNE > TV EZHERLTH 5WERBLINGRELT - 7-.
7, WEBENS 71 XFEEL LT, RICEDLFE2ELREpDbrbRL RS
ZERBEZINT2D, PIoNFZLD LIET A AT LAZHEL, £ ZITRIC
B REYLFERERINDIHICLAE, INLDTRICK > THEREICHE Y
Az 525287k, HEOHMT —XNEZITI LB TE L.

INERIRE, BERE (X7 A Tl o TXFEEFH VT 5729, Bfij7 — & LTl
XFEDPKEE L TRECTIERE LT w b, LA L, BT — X Ol DIFICIK
L CHNT 58T, LFMEBRILAFEOME CTRA % XHIC L.
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X 4.3 ©TAHXTONE

* 4.1 ©FAHXF0MRE [14]

HAZ Sony,FDR-AX100

SMEATIE #81X83.5X 196. bmm (1§ X i & X BT &)
ANE & #9790g

IR ACT X7 5 —8.4V//Ny 71 —6.8V, 7.3V
LR Fff,F2.8-4.5

I P AR R #1em(V A R¥), £9100cm (7 L)

#F 4.2 NEBOH X FHE [14]

o t— N XAVC S HD
FE 7 2L 1920X 1080 (27 &)

i~ L —2A 1L — |~ |30fps

43 ZEDRE

EEORFICIE 3 DOFELR D 5. KREBRTENLITNULT 270D )5iE%
ZiFTwnl,
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ARFETIE, BRI A T ORI CTEEZITI 20, XFOHEZIILYD - HEZKD
D OBHAREECTH S, K44 ICEZ I - ZEEP - FEXKD Yo ER

HEIHORHELHMOFHNCT—EULL 72L&, XFOHFEZIILD L
Wrs s, Wi —EUT Lo/ E2EEZKDY LRETS. 27ZL, ZDFX
THFEECELGINCT VD IEFEICALRETH 2. ZDOFHEHEN—E
UTemokt %, #CICEZXKRDVICTEIDOTIEARL 0.3 I3 %2 E %,
ZOMIC AN TN o7z b HIESINGEICEZKRDY LERET S, &
NICL Y, BRHPXF2EHE T IRFICLFLDUT 22 L2 <. £z,
BEANICL T2 ELS PED R WFOBEMREAT S L, BRAESRIC, 4 XHBA
STLEV, XFTRAVHERSERE NG ZL23H 5. XFRix 1T 5 BRI,
WEE & TN D B0, HRE LT SR T, BRY A XBEMICH 72
ROb DRI NS X IC LT F 7, EEEICHERE © T2 A i H T
LEwv, K450 X3 ICXFERHZELTCLES T L b H 2. HEmIhicH 72 FE 2
AR L CHU 2 272 2 A TE 2 20T RS, Eshic <
WERHEARWERHRLTLE Y. ZORRLAEXFICEL TIdARER TR
BF — 23 A R,

B zEAD B0y

X 4.4 ZEEC (] 2ELEoH
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NWakshi=a

A

K 45 DBELCLEoXFHIE: B, R, H:H)

4.3.2 RDYINHE

ZEEETHIE, BHhoXFIIHIC—FEEZ Lo TLEY, XFOUINHZH
W32 eNEETH 2. AERTIE, MOUNBOHI L LT, 2T 7.
AREBRTHRE LT U080 I 3REAMIC AL T2 o THWTW L,
UL %wX 4.6 THE—2oD~AHICTELK, oo TWw3E FEofEEN
DOEEZRLOLIIENIZEAETHE. ZLTXZILMEFE, XFEFL
TWLDED, HEOTWARFICE LOTHIBICRKRS Z LZIgL ARV, 207
O FrFHNTWBIEICKE Ricm» ) BeHIBRNRE 352 LT, HoUnH
T 5.

MOMBFIELOEEOBBICTH LI NS, HAXT b EX 4.7 ICRT.
Fe BT 5 BT E L OBEIRT D NP 2 b BB D NP OME T A — 20, T
RkpBzeRNTEL, AEANT A =20,k 553 LTRWIKRT. 0, D
Hz@Icmd. e LTERIcmd» 8 Th b9, kKdoide,0HiHITIE
Ficm» o b0 90’ , EMFL > TEAICHD D b DT 180° DHiH % 5
s A

X 4.6 UVoRh0EEXAE
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INICEY, CEAEXTFEFET -2 LCHWS. K 4.8 Il L DR
T =4, 4.9 T EHMDORZ PO EHIERL 72fIED Y OE{RT — X 2R
T LFORE I IIMEDO K TCRELAZTLE > T30, XFAKIFIZIT
HLKESTHS.

@, Pi(xi,yi)

Pi-1(xi-1,yi-1)

X 4.7 ARIXZ b

9; = tan~! (%) (1

90 < 6; < 180 2)

VR &R T
SN TEF R BOTY
OB O TG AN
2 D RO

S v S

LAV G A\ A AN fcig
LSRR L YA IS
RN N ey

X 4.8 #IERLEHRT — %
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WELP T a2
T A DT LTINS AN
S UrST AHBF

X 4.9 #ED Y EHRT— X

4337 —X+tv b

UL DREFEZTo T8 - HRDT —X 2y F ZINET 20 ELDH
5. KREBRTEIEEMTON T 2EE» O EHFOLF2ERT — 2 & LT#
W 5. ZDLD T1 7 7 AFONFEREZED T NI R bR\, 29 ADH
BBEICETAARXTOR TN XFZIEFICENTLH I L E2MfToTH H
W, 17 72BN T — 252805 LB TE ., 120, FEHEZITH
ETi3 1 279RB720 07— 2803075, BHEEomEARATN WL
Bbndz, 7—2MLE{T», T—28EHEe L, 72, U7 —%%y
FELTHABOOR RO FEELTFT -2y PZEBMLZDDBIERL 7-.

T—2MMLTIX, 1ROERZ x, v, zBiCERICHIELZbDEHEL 7.
xill, zEIODDIFFDOFFNHEEXETL T D LEEDLEINE Z D% o7
O, KEBRTIET 7 4 vEFIC X 25MURHEL 72 b 02T 5. ZiCX YT
HREAbE B NZ—VOHEREELZZENTES., IHICINLD yEITE
HI2 107 $00llR% S 72 b DEHEBET LI LB TEL720, 1 77257
HI8TOME TR T T LA TE, x, z TR L 72 Eifk % X 4.10, vy il
[Ofn X & 72 B Z X 4.11 1ICRF, BEY SN0 EEIREZ B3 Lk
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LbOTHY, FETFT—2 L LTHATIRICEABICR>TWS, /287 TR
DT — X &K 4.3I1CET.

K 4.10 xid, z 5 CERLUBEL X ¥ 7= HE{5RH]

A

a
%

X 4.11 yHh10° 3 oMHEEX & 7= ERE

#£ 4.3 ERL7=K2Z 5A2ADF —2EHB
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H |840| = |870| 4 [870| % |870| » |870|| A |870| 7= | 855 || (X | 870
L 1855 L |870| (C |870| & |870| W |870|| £ |855| & | 855 || U | 870
D |85b| ¢ |870| & |870| & |840| % |870|| < |870| 2 |870 || .5¢ | 855
X |870| & |870| #a |870| & |870| # [870| | (F |870| T |870 || ~= | 855
F |840| % |870| o |870| £ |870| A |870|| Z |825| & |870|| I¥ |870
7 [ 855 7= | 870 1% [870| x> |870| 4> |855| | & |870| (£ | 870
Z |870| b |870| U |870| W |870| & | 855 L | 855 | U | 870

870 | > |870| .5 |870| & |870| A [855|| § |840| .38 | 870
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44FE L —ZVT

%17 5 7= D I T 2 FEET 2K 4.4, FEHEZTOBRICOLHARICD
F7z 7 _VFFER 45 R T. JIT -2 LT AT —2DEIFET —
Z2D2EET AT —XIHEHALTVS,

* 4.4 0 1 FHEFROUVINBOHHRZIT> TR WHIERLDOT — X TET
VEAERKT 5. 2 FBH I LICA» 5 MEHIBRLZMIES V0T — 2 TET VA
3%, SHEHUMRBHIED ) 7T —21C, FEEXLFT -2 2BML2¥YEET
NelroTWnb, EEHET - XGEEPN R VHEIHCTTFEEXF T -2 2 AL
FE R bwizd, 3, 4, 5 TRFHEELTFT —XOBEE XL TEREITH.
7z, 5EHICBWTE, FEELFET—2TH0E (b, 2%FKRL) Mook
DE L7 oTWw 5, Tild, 50 & & @, FEE CEMNT —XI1C X )2
H5DYDOG T 72D TH 5.

PEHETAEERT 27-00FE T, ¥ET —2DEBID R0, 774
VFa—= VT ERWEEEET S, AT 3 EEAET VT ResNeth0 %
AT Z. 2o TEETIBEOREL 2L X=X F X — %%, batchsize =
128 , max_epoch =40 T{To7z. X 4.12 I/~ F & 9 IC epoch #(2* 33 {3 TIX
KL T30, MEFhwEBbhs, FEERITEND 1 KERE KT
L7 FHIEHA L PCOREICO>WTER 45 ITRT. $72, HLEZ7L —
ALY =7 CRREER EOFEREICOWTK 4.6 IR,

#£ 4.4 ERL=2%EBETL

FlfeR F AR £S5
FEETIN TR\ TR T — 2K

(#0) () ()
1MEEAL 49116 | 12279 710
2 ED Y 49116 | 12279 710
3MEH Y +FEEXFT —R(ET 7 R+T5H) 53376 | 13344 710
ABEHY +FEEXFT— (K7 7 Z+1008%) 54796 | 13699 710
SBE®Y +FEEXFT—KUDT—RIBOFTOHE 5I2£ 7 7 X+100%) | 58476 | 14619 710
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R 45 BRI ITRADINES

1.0 4

0.9 1

0.8 1

0.7 1

0.6 1

0.5

0.4 1

T
10

X 4.12 FEHBZOICROIKRT

T
15

T
20

epoch

T
25

19

T
30

T
35

T
40

—*— main/accuracy

—— val/mainfaccuracy

0| & |10| = |20| 7% |30 £ |38| © | |46] #»* |56] 7= | |66] I
1) w11 L [21) (2 |31} & |39 Y 47 £ |57] B | |67 U
2 2 12| ¢ |22 ¥ |32] & |40] % | |48 58| O | | 68| 3¢
3] & [13] ¥ |23 12 33| & |41| ~v | [49] IF |59 T | |69] ~
4 B (14| = (24| @ (34| & [42] A ||50| Z |60| & | |70| IE
5 A |15 7= | 25| & |35| % |43| 4 | [Bl] & |61] IE
6| £ |16/ B |26] O |36| W |44 & | |b2| U |62] O
7 17) > 27| & |37 & |45 A | |B3] ¥ [63] &
8| 7 [18] T |28] ~ 4| & |64 N
9] T 19| & |29 X 55| % | 65| 1F




* 4.6 FFICFERAL = PC oMRER

OS Windows 10
A€ |64.0GB
CPU |Intel(R) Core(TM) i9-9900K CPU @3.60GHz (8 core)
GPU |NVIDIA RTX 2080

F 4.7 FERE

7 L —LT)—7 |Chainer 6.5.0
FF S L Python 3.7.3
FRIRIE Visual Sutadio 2019

72, KRBT T — 280 W EE 2T 720, AT -2 72 M H
TR Ko CRHBNEE DR Y 8 2[R B 2. 2D ZTNZ DY
HET NN LT, REMGE (Cross Validation) #175. Zic L b, FH%
Kz Z e Lo TILIERED B 5RO N 5.

4.41 ZZZEWEE (Cross Validation)

ZZFEMGE (Cross Validation) & (3, HMYAE D€ T A BAK L ICEMTH 5
HOWEEE T2 2o IR R E RT3l ko —>Th 3. KEMIEC
b ODREN D 505, AFERCTH 72 b 0lx K SEISERET & W3 b
DTH 5.

K D EZEMATIC DT 4.13 107 S . K EPOEMEE L 13, ¥ 3Hy
BT IS N ¥E T — 2% KEHET 5. 2055 120%7 2 b
Fox e LCHAT 5. M413 0D0HNETF AP F—xL LizL &, RY O
F—2EIT—&2 e LTCEEHL, ETFARERT S, R, DE L 7-Q0E 45y
EFALF 2L LTHAL, £IBETFANF =272 0O T — 2 0%
~EMLCEEEFAVEERT 5. ChEe#VBEL T KESEIL 254
I 1x K EOFBRERAIRD 5N, 2000 FRFMifERE LRy 5N,
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FTRCOF— 2 AT — 2 LTHASh, FELIAB LIk ) Buil
LHREDE R & H5 2 LA TE 3,
KT, FEF— 20282 F A F—2 L LT3R5, 5 HERER

AEzfro e & d 5.

(11 (2 (K]

N — L IR ik

B 4.13 K 3 EIZZERREE

4.5 RERTTE

EEclx, ERLZEEET A cH L CEBAOBIH T — % ZHWT OS5 A
75 DERIIE R DR KSR 2 1T 5. FEfiEER T, #ET -2 THEDA 29 AL
B 5 NOWERFIC 28192 50 % (b, 2%FR<) LEE - EFETOVLL A
71 XFOEERToTHH I, 20D 10 MY D T — X 2 LA & & OREH
HECXED L ORBREZFANS. FEBBELZAEE LT, gL
DRFBREIZ 71 LT HBLE#ANE L kD2, 77 AL 0B#BEIIZNE
ND 27 7AT10 BT 723D 9 bRt I Nz bKkD 5., & 5 DR
A D Rk B ERICIZ@) KTk 5.

HEI
(3)

S = I
PO T e
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4.6 RERHER

EEFER T, 5 ADAPNIC 2 BT OFENTH 5 5T 5729 10 115 D 2qH
RsEEHING, £7, 5 EIERILZ{To722 Lick Y, RU¥EET —
ZATHEODETARIERL, EiziTo/, D0, 1 00FEHT— 2% HW0»
7= EERCIEAE 50 Bt 0@ RE KD 2 Z LN TE 5, FHETHIEIC, 2h
ZNDOUOLBICHI VIR S 72 TRV BRICRT, £TT AT & D 71 XFd L 725851
KrRKA8, TNTNDOLD % 50 EEF ) b OIEROER 4.9 1TRT.
# 4.8 TlX answer 251 L { 22N 728, miss DREZ 728, Ave. 2357 %
KLTWw3, $7, £49 TRHEKEDETIIREZ 72BIED 1 HH 6 4 [HD b
D, REDOET L5 B EFEZ 250 L mo T3,

INLDOFERNP S ZOFRICK Y, BEHOEBAIT) LA TEL, MilERL
DFEHET V1T, 96.7[%]L W IFBIHIELRD -7, fEEZMZ T L, &
L OoMEZ 2RIETH > T &, fiEEMA 2P EET L 2 Tl 97.7[%], F
HENFT =2 EMA T o 2P EET L 3~5 Tid 98.1[%] & v 35 3BAE 2 &
27z,

¥z, ¥EETNIL T 5 PEIEERAEZ AT - 723RE R OFE Ic > wW TR
Ik A DHICH .

#£ 48 BETNLOHIIE

model
1 2 3 4 5
Answer 3434| 3468 3482| 3483| 3483
Miss 116 82 68 67 67
Ave. 0.967| 0.977| 0.981| 0.981| 0.981
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51 8%

KETIE, 4 ETHONEEBRERONBICOWTEREIT-> T, HEn
HEXAERPETAT L OHBANEL LR T T —oh, ER2{T5.

5.2 7T — X I

FEERFERDP O T — 2B R (T o7, R 49 2R LBRFEVPEF LB L
bbb, ETNI LD 50 HEDLDHMANELK 5.1, WE - FEEOHNEL
FKH52ITRT. B0 ETIHET AL DFAIRITH TV 017, 98.4~99.2[%]
EV)BHEETH o7, WE - FEE Tl 93.6~96.1[%]iIcE TE D, 50 EH &
N2 RS E R Er o7, EEEARI LV RDRIBNREZE 5.3 I
NI

#F 5.1 50 FOHRHIZE

model
1 2 3 4 5
Answer 2264| 2275 2276 2278| 2282
Miss 36 25 24 22 18
Ave. 0.984| 0.989| 0.990| 0.990| 0.992

x 52 EE - FEITOBIEK

model
1 2 3 4 5
Answer 1170 1193 1206 1205| 1201
Miss 80 57 44 45 49
Ave. 0.936] 0.954| 0.965| 0.964| 0.961
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FzA2¥F=ESTA+101MH

| A B C D E class

abel &) @ &) @ @ @ &) @ &) @ | ##m
o) (0] (0] (o) 0 (o) BS) 4 0 (0] (0] (0] 0.8
[ 1 1 1 1 1 1 1 39 1 1 1 0.9
> 2 2 2 2 38 2 2 2 2 2 2 0.9
=z 3 3 3 3 3 3 3 3 3 3 3 1
> 4 4 33 4 4 4 4 4 4 4 4 0.9
h 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
o 8 8 8 8 8 8 8 8 8 8 8 1
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
R 12 12 12 12 12 12 12 12 12 12 12 1
=+ 13 13 13 13 13 13 13 13 13 13 13 1
= 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
=Y 16 16 16 16 16 16 16 16 16 16 16 1
=) 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
75 20 20 20 20 20 20 20 20 20 20 20 1
= 21 21 21 21 21 21 21 21 21 21 21 1
o~y 22 22 22 22 22 22 33 22 22 22 22 0.9
4a 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
(=3 25 25 25 25 25 25 25 25 25 25 25 1
(o8 26 26 26 26 26 26 26 26 26 26 26 1
N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
Fz 30 30 30 30 30 30 30 30 30 30 30 1
Fr 31 31 31 31 31 31 31 31 31 31 31 1
iy 32 5 32 32 32 32 32 32 32 32 32 0.9
& 33 33 33 33 33 33 33 33 33 33 33 1
E3) 34 34 34 34 34 34 34 34 34 34 34 1
Red 35 35 35 35 35 35 35 35 35 35 35 1
(=2 36 36 36 36 36 36 36 36 36 36 36 1
X 37 37 37 37 27 37 37 37 37 37 37 0.9
=) 38 38 38 38 38 38 38 38 38 38 38 1
D) 39 39 39 39 39 39 39 39 39 39 39 1
=3 40 40 40 40 40 40 40 40 40 40 40 1
E 41 41 41 41 41 41 41 41 41 41 41 1
=) 42 42 42 42 42 42 42 42 42 42 42 1
el 43 43 43 43 43 43 43 43 43 43 43 1
# 44 44 44 44 44 44 44 44 44 44 44 1
A 45 45 45 45 45 45 45 45 45 45 45 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 a7 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
(52 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
= 51 51 51 51 51 51 51 51 51 50 51 0.9
(54 52 52 52 52 52 52 52 52 52 52 52 1
=N 53 53 53 53 (0] 53 53 53 53 53 53 0.9
=+ 54 54 54 54 54 54 54 54 54 54 54 1
z 55 55 55 55 55 55 55 55 55 55 55 1
= 56 56 56 56 56 56 56 56 56 56 56 1
=) 57 57 57 57 57 57 57 57 57 57 57 1
- 58 58 58 26 58 58 58 58 58 58 58 0.9
< 59 59 59 59 62 59 59 59 59 59 59 0.9
& 60 50 60 60 60 60 60 60 60 60 60 0.9
61 61 61 61 61 61 61 61 61 61 61 1
62 62 62 67 67 62 62 62 62 62 26 0.7
63 63 63 63 63 63 63 63 63 63 63 1
~ 64 64 64 69 69 64 64 64 64 69 64 0.7
[E3 65 65 65 70 65 65 65 65 65 65 65 0.9
=4 66 66 66 66 61 66 66 66 66 66 66 0.9
[ 67 67 67 67 67 67 67 67 67 67 67 1
.38 68 68 68 68 63 68 68 68 68 68 68 0.9
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 70 70 70 70 70 70 70 70 1
answer 69 70 67 63 70 69 70 71 69 70 688
miss 2 1 4 8 1 2 1 0 2 1 22
Ave 0.972 0.986 0.944 0.887 0.986 0.972 0.986 1.000 0.972 0.986| 0.969
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#F A3

ZVExsFLr102HHE

A B C D E class

label ©) 5) ©) @ o) @ D @ @ @ | s
» 0 0 0 0 0 33 0 0 0 0 0 0.9
(Y 1 1 1 1 39 1 1 39 1 1 1 0.8
> 2 2 2 2 2 2 2 2 2 2 2 1
= 3 3 3 3 3 3 3 3 3 3 3 1
> 4 4 31 4 4 4 4 32 4 4 4 0.8
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
F 8 8 8 8 8 8 8 8 8 8 8 1
pusl 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
cn 12 12 12 12 12 12 12 12 12 12 12 1
hea 13 13 13 13 13 13 13 13 13 13 13 1
z 14 14 14 14 14 14 14 14 14 14 14 1
= 15 15 15 15 15 15 15 15 15 15 15 1
=Y 16 16 16 16 16 16 16 16 16 16 16 1
> 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
75 20 20 20 20 20 20 20 20 20 20 20 1
A= 21 21 21 21 21 21 21 21 21 21 21 1
Eo~Y 22 22 22 22 22 22 22 22 22 22 22 1
A 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
[ES 25 25 25 25 25 25 25 25 25 25 25 1
w 26 26 26 26 26 26 26 26 26 26 26 1
[N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
(E3 29 29 29 29 29 29 29 29 29 29 29 1
* 30 30 30 30 30 30 30 30 30 30 30 1
Fr 31 31 31 31 31 31 31 31 31 31 31 1
ki 32 5 32 32 32 32 32 32 32 32 32 0.9
& 33 33 33 33 33 33 33 33 33 33 33 1
+ 34 34 34 34 34 34 34 34 34 34 34 1
el 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
X 37 37 37 37 32 37 37 37 37 37 37 0.9
=) 38 38 38 38 38 38 38 38 38 38 38 1
) 39 39 39 39 39 39 39 39 39 39 39 1
=) 40 40 40 40 40 40 40 40 40 40 40 1
E 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
el 43 43 43 43 43 43 43 43 43 43 43 1
= 44 44 44 44 44 44 44 44 44 44 44 1
Ao 45 45 45 45 45 45 45 45 45 45 45 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= a7 47 a7 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
(58 49 49 49 49 49 49 49 61 49 49 49 0.9
ha 50 50 50 50 50 50 50 50 50 50 50 1
= 51 51 51 51 51 51 51 51 51 50 51 0.9
[ 52 52 52 52 52 52 52 52 52 52 52 1
= 53 53 53 53 53 53 53 46 53 53 53 0.9
Rcd 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
B 57 57 57 57 57 57 57 57 57 57 57 1
- 58 58 58 60 58 58 58 58 58 58 58 0.9
< 59 59 59 59 62 59 59 59 59 59 59 0.9
& 60 50 60 60 60 60 60 60 60 60 60 0.9
61 61 61 61 61 61 61 61 61 61 61 1
62 62 62 67 67 62 62 62 62 62 26 0.7
63 63 63 63 63 63 63 63 63 63 68 0.9
64 64 64 69 64 64 64 64 64 64 64 0.9
65 65 65 70 70 65 65 65 65 65 65 0.8
66 66 66 66 66 66 66 66 66 66 66 1
67 67 67 67 62 67 67 67 62 67 67 0.8
68 68 68 63 63 68 68 63 68 68 68 0.7
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 70 70 70 70 70 70 65 70 0.9
answer 69 70 66 64 70 71 66 70 69 69 684
miss 2 1 5 7 1 0 5 1 2 2 26
Ave 0.972 0.986 0.930 0.901 0.986 1.000 0.930 0.986 0.972 0.972( 0.963
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F A4 FHET1103EHE

0 A B C D E class
abel ) @ @ @ @ @ @ @ @ @ | =7im
EZ) 0 0 0 0 0 0 0 0 0 0 0 1
w 1 1 1 1 1 1 1 39 1 1 1 0.9
> 2 2 2 2 2 2 2 2 2 2 2 1
= 3 3 3 3 3 3 3 3 3 3 3 1
ES 4 4 4 4 4 4 4 (o] 4 4 4 0.9
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
(52 8 8 8 8 8 8 8 8 8 8 8 1
pus 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
g 12 12 12 12 12 12 12 12 12 12 12 1
Rea 13 13 13 13 13 13 13 13 13 13 13 1
z 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
=y 16 16 16 16 16 16 16 16 16 16 16 1
=l 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
7 20 20 20 20 20 20 20 20 20 20 20 1
=4 21 21 21 21 21 21 21 21 21 21 21 1
&2 22 22 22 22 22 22 22 22 22 22 22 1
42 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
[ES 25 25 25 25 25 25 25 25 25 25 25 1
(6N 26 26 26 26 26 26 26 26 26 26 26 1
[N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[ES 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 30 30 30 30 1
F 31 31 31 31 31 31 31 31 31 31 31 1
i 32 5 32 32 32 32 32 32 32 32 32 0.9
& 33 33 33 33 33 33 33 33 33 33 33 1
£3) 34 34 34 34 34 34 34 34 34 34 34 1
x> 35 35 35 35 35 35 35 35 35 35 35 1
[ 36 36 36 39 36 36 36 36 36 36 36 0.9
& 37 37 37 37 37 37 37 37 37 37 37 1
>3 38 38 38 38 38 38 38 36 38 38 38 0.9
D] 39 39 39 39 39 39 39 39 39 39 39 1
=) 40 40 40 40 40 40 40 40 40 40 40 1
A 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
4> 43 43 43 43 43 43 43 43 43 43 43 1
e 44 44 44 44 44 44 44 44 44 44 44 1
A 45 45 45 45 45 45 45 45 45 45 45 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
E3 a7 a7 47 a7 a7 47 a7 a7 47 a7 a7 1
< 48 48 48 48 48 48 48 48 48 48 48 1
F 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
= 51 51 51 51 51 51 51 51 51 51 51 1
[ 52 52 52 52 52 52 52 52 52 52 52 1
=R 53 53 53 53 53 53 53 53 53 53 53 1
hea 54 54 54 54 54 54 54 54 54 54 54 1
=z 55 55 55 55 55 55 56 55 55 55 55 0.9
7= 56 56 56 56 56 56 56 56 56 56 56 1
=y 57 57 57 57 57 57 57 57 57 57 57 1
- 58 58 58 60 58 58 58 58 58 58 58 0.9
< 59 59 59 59 62 59 59 59 59 59 59 0.9
& 60 50 60 60 60 60 60 60 60 60 60 0.9
[E3 61 61 61 61 61 61 61 61 61 61 61 1
w 62 62 62 62 67 62 62 62 62 62 26 0.8
R 63 63 63 63 68 63 63 63 63 63 27 0.8
~ 64 64 64 64 69 64 64 64 64 64 64 0.9
[E3 65 65 65 65 65 65 65 65 61 65 70 0.8
[£9 66 66 66 66 66 66 66 66 66 66 66 1
w 67 67 67 67 67 67 67 67 67 67 67 1
W38 68 68 68 68 63 68 68 68 68 68 68 0.9
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 65 70 70 70 70 70 70 70 0.9
answer 69 71 68 66 71 70 68 70 71 68 692
miss 2 0 3 5 0 1 3 1 0 3 18
Ave 0.972 1.000 0.958 0.930 1.000 0.986 0.958 0.986 1.000 0.958( 0.975
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tabel @ @ @ @ @ @ @ @ @ @
an 0 0 0 0 0 0 0 0 0 0 0 1
[ 1 1 1 1 1 1 1 1 1 1 1 1
> 2 2 2 2 38 2 2 2 2 2 2 0.9
= 3 3 3 3 3 3 3 3 3 3 3 1
ES) 4 4 4 4 4 4 4 32 4 4 4 0.9
hH 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
(53 8 8 8 8 8 8 8 8 8 8 8 1
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
+ 13 13 13 13 13 13 13 13 13 13 13 1
z 14 14 14 14 14 14 14 14 6 14 14 0.9
7= 15 15 15 15 15 15 15 15 15 15 15 1
k=Y 16 16 16 16 16 16 16 16 16 16 16 1
=l 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
7 20 20 20 20 44 20 20 20 20 20 20 0.9
=4 21 21 21 21 21 21 21 21 21 21 21 1
& 22 22 22 22 22 22 22 22 22 22 22 1
Aa 23 23 23 23 41 23 23 23 23 23 23 0.9
D 24 24 24 24 24 24 24 24 24 24 24 1
[ES 25 25 25 25 21 25 25 25 25 25 25 0.9
W 26 26 26 26 26 26 26 26 26 26 26 1
N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 30 30 30 30 1
Fh 31 31 31 31 31 31 31 31 31 31 31 1
En 32 5 32 32 32 32 32 32 32 32 32 0.9
& 33 33 33 33 33 33 33 33 33 33 33 1
* 34 34 34 34 34 34 34 34 34 34 34 1
x> 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
& 37 37 37 37 10 37 37 37 37 37 37 0.9
=3 38 38 38 38 38 38 38 38 38 38 38 1
D] 39 39 39 39 39 39 39 39 39 39 39 1
=) 40 40 40 40 40 40 40 40 40 40 40 1
A 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
> 43 43 43 43 43 43 43 43 43 43 43 1
e 44 44 44 44 44 44 44 44 44 44 44 1
Ao 45 45 45 45 45 45 45 45 45 45 45 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
F 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
= 51 51 51 51 51 51 51 51 51 51 51 1
(54 52 52 52 52 52 52 52 52 52 52 52 1
N 53 53 53 53 53 53 53 53 53 53 53 1
= 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
=) 57 57 57 57 57 57 57 57 57 57 57 1
=) 58 58 58 67 58 58 58 58 58 58 58 0.9
< 59 59 59 59 62 59 59 59 59 59 59 0.9
& 60 50 60 60 60 60 60 60 60 60 60 0.9
=S 61 61 61 61 61 61 61 61 61 61 61 1
w 62 62 62 67 67 62 62 62 62 62 67 0.7
SR 63 63 63 63 63 63 63 63 63 63 63 1
~ 64 64 64 69 69 64 64 64 64 64 64 0.8
[E3 65 65 65 70 70 65 65 61 65 65 65 0.7
£ 66 66 66 66 61 66 66 66 66 66 61 0.8
w 67 67 67 67 67 67 67 67 67 67 67 1
.38 68 68 68 63 63 68 68 68 68 68 68 0.8
~ 69 69 69 69 69 69 69 69 69 69 69 1
(E3 70 70 70 70 70 70 70 70 70 70 70 1
answer 69 71 66 60 71 71 69 70 71 69 687

miss 2 0 5 11 0 0 2 1 0 2 23

Ave 0.972 1.000 0.930 0.845 1.000 1.000 0.972 0.986 1.000 0.972| 0.968
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tabel @ @ @ @ @ @ @ @ @ @
an 0 0 0 0 0 33 4 0 0 0 0 0.8
[ 1 1 1 1 1 1 1 39 1 1 1 0.9
> 2 2 2 2 38 2 2 2 2 2 2 0.9
= 3 3 3 3 3 3 3 3 3 3 3 1
ES) 4 4 4 4 4 4 4 32 4 4 4 0.9
hH 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
(53 8 8 8 8 39 8 8 8 8 8 8 0.9
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 6 10 10 10 10 0.9
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
+ 13 13 13 13 13 13 13 13 13 13 13 1
z 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
k=Y 16 16 16 16 16 16 16 16 16 16 16 1
=l 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
75 20 20 20 20 20 20 20 20 20 20 20 1
=4 21 21 21 21 21 21 21 21 21 21 21 1
& 22 22 22 22 22 22 22 22 22 22 22 1
Aa 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
[ES 25 25 25 25 25 25 25 25 25 25 25 1
W 26 26 26 26 26 26 26 26 26 26 26 1
N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 30 30 30 30 1
Fh 31 31 31 31 31 31 31 31 31 31 31 1
ki 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
* 34 34 34 34 34 34 34 34 34 34 34 1
x> 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
& 37 37 37 37 10 37 37 37 37 37 37 0.9
=3 38 38 38 38 38 38 38 38 38 38 38 1
D] 39 39 39 39 39 39 39 39 39 39 39 1
=) 40 40 40 40 40 40 40 40 40 40 40 1
A 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
> 43 43 43 43 43 43 43 43 43 43 43 1
e 44 44 44 44 44 44 44 44 44 44 44 1
Ao 45 45 45 45 45 45 45 45 45 45 45 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= | 47 47 47 47 47 47 47 47 47 47 55| 0.9
< | 48 28 28 28 28 28 28 28 28 78 28 1
F 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
= 51 51 51 51 51 51 51 51 51 51 51 1
(54 52 52 52 52 52 52 52 52 52 52 52 1
N 53 53 53 53 53 53 53 53 53 53 53 1
= 54 54 54 54 54 54 54 54 54 54 13 0.9
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
=) 57 46 57 57 57 57 57 57 57 57 57 0.9
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 59 62 59 59 59 59 59 59 0.9
& 60 50 60 60 60 60 60 60 60 60 60 0.9
=S 61 61 61 61 61 61 61 61 61 61 61 1
w 62 62 62 62 67 62 62 62 62 67 67 0.7
SR 63 63 63 63 68 63 63 63 63 63 27 0.8
~ 64 64 64 64 64 64 64 64 64 69 64 0.9
[E3 65 65 65 70 70 65 65 65 65 70 65 0.7
£ 66 66 66 66 61 66 66 66 66 66 66 0.9
w 67 67 67 67 67 67 67 67 67 67 67 1
.38 68 68 68 63 63 68 68 68 68 68 68 0.8
~ 69 69 69 69 69 69 69 69 69 69 69 1
(E3 70 70 70 65 70 70 70 70 70 65 70 0.8
answer 69 71 68 62 70 69 69 71 67 67 683

miss 2 0 3 9 1 2 2 0 4 4 27

Ave 0.972 1.000 0.958 0.873 0.986 0.972 0.972 1.000 0.944 0.944( 0.962
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abel ) @ @ @ @ @ @ @ @ & | wm
EZ) 0 0 0 0 0 0 0 0 0 0 0 1
w 1 28 1 1 1 1 1 1 1 1 1 0.9
> 2 2 2 2 38 2 2 2 2 2 2 0.9
= 3 3 3 3 3 3 3 3 3 3 3 1
ES 4 4 4 4 4 4 4 4 4 4 4 1
hH 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
(52 8 8 8 8 8 8 8 8 8 8 8 1
pusk 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
R 12 12 12 12 12 12 12 12 12 12 12 1
& 13 13 13 13 13 13 13 13 13 13 13 1
z 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
=y 16 16 16 16 16 16 16 16 16 16 16 1
=l 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
7 20 20 20 20 20 20 20 20 20 20 20 1
=4 21 21 21 21 21 21 21 21 21 21 21 1
& 22 22 22 22 22 22 22 22 22 22 22 1
4a 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
(£ 25 25 25 25 25 25 25 25 25 25 25 1
W 26 26 26 26 26 26 26 26 26 26 26 1
N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 30 30 30 30 1
Fh 31 31 31 31 31 31 31 31 31 31 31 1
E 32 26 32 32 32 32 32 32 32 32 32 0.9
& 33 33 33 33 33 33 33 33 33 33 33 1
£ 34 34 34 34 6 34 34 34 34 34 34 0.9
x> 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
& 37 37 37 37 37 37 37 37 37 37 37 1
=) 38 38 38 38 38 38 38 38 38 38 38 1
D] 39 39 39 39 39 39 39 39 39 39 39 1
) 40 40 40 40 40 40 40 40 40 40 40 1
i 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
> 43 43 43 43 43 43 43 43 43 43 43 1
= 44 44 44 44 44 44 44 44 44 44 44 1
7% | 45 25 25 25 25 25 25 25 25 25 25 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
(%2 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
x 51 51 51 51 51 51 51 51 51 51 51 1
C 52 52 52 52 52 52 52 52 52 52 52 1
En 53 53 53 53 53 53 53 53 53 53 53 1
= 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
=) 57 57 57 57 57 57 57 57 57 57 57 1
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 26 59 59 59 59 59 59 59 0.9
& 60 60 60 60 60 60 60 50 60 60 60 0.9
61 61 61 61 61 61 61 61 61 61 61 1
62 62 62 62 62 62 62 62 62 62 26 0.9
63 63 63 63 63 63 63 63 63 63 27 0.9
~ 64 64 64 64 64 64 64 64 64 64 64 1
[E3 65 65 65 65 65 65 65 61 61 65 65 0.8
(=3 66 66 66 66 61 66 66 66 66 66 66 0.9
. 67 67 67 67 62 67 67 67 62 67 67 0.8
88 68 68 68 68 63 68 68 63 68 68 68 0.8
~ 69 69 69 69 64 69 69 69 69 69 69 0.9
[E3 70 70 70 65 70 70 70 70 70 70 70 0.9
answer 69 71 69 65 71 71 68 69 71 69 693
miss 2 (0] 2 6 0 (0] 3 2 0 2 17
Ave 0.972 1.00 0.972 0.915 1.00 1.00 0.958 0.972 1.00 0.972| 0.976
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abel ) @ @ @ @ @ @ @ @ @ | wm
EZ) 0 0 0 0 0 33 0 0 0 0 0 0.9
w 1 28 1 1 1 1 1 1 1 1 1 0.9
> 2 2 2 38 38 2 2 2 2 2 2 0.8
= 3 3 3 3 3 3 3 3 3 3 3 1
ES 4 4 4 4 5 4 4 5 4 4 4 0.8
hH 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
(52 8 8 8 8 8 8 8 8 8 8 8 1
pusk 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
R 12 12 12 12 12 12 12 12 12 12 12 1
& 13 13 13 13 13 13 13 13 13 13 13 1
z 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
=y 16 16 16 16 16 16 16 16 16 16 16 1
=l 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
7 20 20 20 20 20 20 20 20 20 20 20 1
=4 21 21 21 21 21 21 21 21 21 21 21 1
& 22 22 22 22 22 22 22 22 22 22 22 1
4a 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
(£ 25 25 25 25 25 25 25 25 25 25 25 1
W 26 26 26 26 26 26 26 26 26 26 26 1
N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 37 30 30 30 0.9
Fh 31 31 31 31 31 31 31 31 31 31 31 1
E 32 26 32 32 32 32 32 32 32 32 32 0.9
& 33 33 33 33 33 33 33 33 33 33 33 1
£ 34 34 34 34 34 34 34 34 34 34 34 1
x> 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
& 37 37 37 37 37 37 37 37 37 37 37 1
=) 38 38 38 38 38 38 38 36 38 38 38 0.9
D] 39 39 39 39 39 39 39 39 39 39 39 1
) 40 40 40 40 40 40 40 40 40 40 40 1
i 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
> 43 43 43 43 43 43 43 43 43 43 43 1
= 44 44 44 44 44 44 44 44 44 44 44 1
7% | 45 25 25 25 25 25 25 25 25 25 25 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
(%2 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
x 51 51 51 51 51 51 51 51 51 51 51 1
C 52 52 52 52 52 52 52 52 52 52 52 1
En 53 53 53 53 53 53 53 53 53 53 53 1
= 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
=) 57 57 57 57 5 57 57 57 57 57 57 0.9
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 59 59 59 59 59 59 59 59 1
& 60 50 60 60 60 60 60 60 60 60 60 0.9
61 61 61 61 61 61 61 61 61 61 61 1
62 62 62 62 62 62 62 62 62 62 62 1
63 63 63 63 63 63 63 63 63 63 63 1
~ 64 64 64 64 64 64 64 64 64 64 64 1
[E3 65 65 65 65 65 65 65 65 65 65 65 1
(=3 66 66 66 66 61 66 66 66 66 66 66 0.9
. 67 67 67 67 62 67 67 62 62 67 67 0.7
88 68 68 68 63 63 68 68 63 68 68 68 0.7
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 65 70 70 70 70 70 70 70 0.9
answer 68 71 68 65 70 71 66 70 71 71 691
miss 3 (0] 3 6 1 (0] 5 1 0 (0] 19
Ave 0.958 1.000 0.958 0.915 0.986 1.000 0.930 0.986 1.000 1.000| 0.973
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abel ) @ @ @ @ @ @ @ @ @ | wm
EZ) 0 0 0 0 0 0 0 0 0 0 0 1
w 1 28 1 1 1 1 1 1 1 1 1 0.9
> 2 2 2 2 2 2 2 2 2 2 2 1
= 3 3 3 3 3 3 3 3 3 3 3 1
ES 4 4 4 4 5 4 4 4 4 4 4 0.9
hH 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
(52 8 8 8 8 8 8 8 8 8 8 8 1
pusk 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
R 12 12 12 12 12 12 12 12 12 12 12 1
& 13 13 13 13 13 13 13 13 13 13 13 1
z 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
=y 16 16 16 16 16 16 16 16 16 16 16 1
=l 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
7 20 20 20 20 20 20 20 20 20 20 20 1
=4 21 21 21 21 21 21 21 21 21 21 21 1
& 22 22 22 22 22 22 22 22 22 22 22 1
4a 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
(£ 25 25 25 25 25 25 25 25 25 25 25 1
W 26 26 26 67 26 26 26 26 26 26 26 0.9
N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 37 30 30 30 0.9
Fh 31 31 31 31 31 31 31 31 31 31 31 1
E 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
£ 34 34 34 34 34 34 34 34 34 34 34 1
x> 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
& 37 37 37 37 37 37 37 37 37 37 37 1
=) 38 38 38 38 38 38 38 38 38 38 38 1
D] 39 39 39 39 39 39 39 39 39 39 39 1
) 40 40 40 40 40 40 40 40 40 40 40 1
i 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
> 43 43 43 43 43 43 43 43 43 43 43 1
= 44 44 44 44 44 44 44 44 44 44 44 1
7% | 45 25 25 25 25 25 25 25 25 25 25 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
(%2 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
x 51 51 51 51 51 51 51 51 51 51 51 1
C 52 52 52 1 52 52 52 52 52 52 52 0.9
En 53 53 53 53 53 53 53 53 53 53 53 1
= 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
=) 57 57 57 57 57 57 57 57 57 57 57 1
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 59 59 59 59 59 59 59 59 1
& 60 50 60 60 60 60 60 60 60 60 60 0.9
61 61 61 61 61 61 61 61 61 61 61 1
62 62 62 62 62 62 62 62 62 62 62 1
63 63 63 63 63 63 63 63 63 63 27 0.9
~ 64 64 64 64 64 64 64 64 64 64 64 1
[E3 65 65 65 65 65 65 65 61 61 65 65 0.8
(=3 66 66 66 66 61 66 66 66 66 66 66 0.9
. 67 67 67 67 67 67 67 67 67 67 67 1
88 68 68 68 68 63 68 68 63 68 68 68 0.8
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 65 70 70 70 65 70 70 70 0.8
answer 69 71 68 68 71 71 67 70 71 70 696
miss 2 (0] 3 3 0 (0] 4 1 0 1 14
Ave 0.972 1.000 0.958 0.958 1.000 1.000 0.944 0.986 1.000 0.986( 0.980
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abel &) @ &) @ &) @ &) @ &) @ | #¥m
n 0 0 0 0 0 33 33 0 0 0 0 0.8
[ 1 28 1 1 1 1 1 1 1 1 1 0.9
> 2 2 2 2 2 2 2 2 2 2 2 1
= 3 3 3 3 3 3 3 3 3 3 3 1
ES) 4 4 4 4 4 4 4 58 4 4 4 0.9
hH 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
(53 8 8 8 8 8 8 8 8 8 8 8 1
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
E 12 12 12 12 12 12 12 12 12 12 12 1
+ 13 13 13 13 13 13 13 13 13 13 13 1
z 14 14 14 14 14 14 14 14 14 14 14 1
= 15 15 15 15 15 15 15 15 15 15 15 1
= 16 16 16 16 16 16 16 16 16 16 16 1
=l 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 21 19 19 0.9
75 20 20 20 20 20 20 20 20 20 20 20 1
=4 21 21 21 21 21 21 21 21 21 21 21 1
P°~Y 22 22 22 22 22 22 22 22 22 22 22 1
4a 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
[3 25 25 25 25 25 25 25 25 25 25 25 1
26 26 26 26 26 26 26 26 26 26 26 1

N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
* 30 30 30 30 30 30 30 37 30 30 30 0.9
Fh 31 31 31 31 31 31 31 31 31 31 31 1
E 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 24 33 33 33 33 33 33 33 33 0.9
£ 34 34 34 34 34 34 34 34 34 34 34 1
x> 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
& 37 37 37 37 37 37 37 37 37 37 37 1
=3 38 38 38 38 38 38 38 38 38 38 38 1
D] 39 39 39 39 39 39 39 39 39 39 39 1
) 40 40 40 40 40 40 40 40 40 40 40 1
A 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
> 43 43 43 43 43 43 43 43 43 43 43 1
= 44 44 44 44 44 44 44 44 44 44 44 1
A 45 45 45 45 45 45 45 45 45 45 45 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
F 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
51 51 51 51 51 51 51 51 51 50 50 0.8

C 52 52 52 52 52 52 52 52 52 52 52 1
En 53 53 53 53 53 53 53 46 53 53 53 0.9
= 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
= 56 56 56 56 56 56 56 56 56 56 56 1
= 57 57 57 57 57 4 57 57 57 57 57 0.9
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 26 59 59 59 59 59 59 59 0.9
& 60 60 60 60 60 60 60 50 60 60 60 0.9
(=3 61 61 61 61 61 61 61 61 61 61 61 1
w 62 62 62 62 62 62 62 62 62 62 67 0.9
S 63 63 63 63 63 63 63 63 63 63 27 0.9
~ 64 64 64 64 64 64 64 64 64 64 64 1
[E3 65 65 65 65 65 65 65 65 65 65 65 1
(=4 66 66 66 66 61 66 66 66 66 66 66 0.9
[ 67 67 67 67 62 67 67 67 67 67 67 0.9
82 68 68 68 63 63 68 68 63 68 68 68 0.7
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 65 70 70 70 70 70 70 70 0.9
answer 70 70 68 68 69 70 66 70 70 68 689
miss 1 1 3 3 2 1 5 1 1 3 21
Ave 0.986 0.986 0.958 0.958 0.972 0.986 0.930 0.986 0.986 0.958( 0.970
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abel @ @ @ @ ) 5) ) 5) ) @ | swm
n 0 0 0 0 0 0 0 0 0 0 0 1
[ 1 1 1 1 1 1 1 1 1 1 1 1
> 2 2 2 2 2 2 2 2 2 2 2 1
= 3 3 3 3 3 3 3 3 3 3 3 1
ES) 4 4 4 4 5 4 4 4 4 4 4 0.9
hH 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
(53 8 8 8 8 8 8 8 8 8 8 8 1
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
E 12 12 12 12 12 12 12 12 12 12 12 1
+ 13 13 13 13 13 13 13 13 13 13 13 1
z 14 14 14 14 14 14 14 14 14 14 14 1
= 15 15 15 15 15 15 15 15 15 15 15 1
= 16 16 16 16 16 16 16 16 16 16 16 1
=l 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
75 20 20 20 20 20 20 20 20 20 20 20 1
=4 21 21 21 21 21 21 21 21 21 21 21 1
P°~Y 22 22 22 22 22 22 22 22 22 22 22 1
4a 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
[3 25 25 25 25 25 25 25 25 25 25 25 1
26 26 26 26 26 26 26 26 26 26 26 1

N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
* 30 30 30 30 30 30 30 30 30 30 30 1
Fh 31 31 31 31 31 31 31 31 31 31 31 1
T 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
£ 34 34 34 34 34 34 34 34 34 34 34 1
x> 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
& 37 37 37 37 37 37 37 37 37 37 37 1
=3 38 38 38 38 38 38 38 38 38 38 38 1
D] 39 39 39 39 39 39 39 39 39 39 39 1
) 40 40 40 40 40 40 40 40 40 40 40 1
A 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
> 43 43 43 43 43 43 43 43 43 43 43 1
= 44 44 44 44 44 44 44 44 44 44 44 1
A 45 45 45 45 45 45 45 45 45 45 45 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
F 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
51 51 51 51 51 51 51 51 51 50 50 0.8

C 52 52 52 52 52 52 52 52 52 52 52 1
En 53 53 53 53 53 53 53 53 53 53 53 1
= 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
= 56 56 56 56 56 56 56 56 56 56 56 1
= 57 57 57 57 57 57 57 57 57 57 57 1
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 26 59 59 59 59 59 59 59 0.9
& 60 60 60 60 60 60 60 60 60 60 60 1
(=3 61 61 61 61 61 61 61 61 61 61 61 1
w 62 62 62 62 62 62 62 62 62 62 67 0.9
S 63 63 63 63 63 63 63 63 63 63 27 0.9
~ 64 64 64 64 64 64 64 64 64 64 64 1
[E3 65 65 65 65 65 65 65 65 65 65 65 1
(=4 66 66 66 66 61 66 66 66 66 66 66 0.9
[ 67 67 67 67 62 67 67 67 62 67 67 0.8
82 68 68 68 68 63 68 68 68 68 68 68 0.9
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 65 70 70 70 70 70 70 70 0.9
answer 71 71 69 67 71 71 71 70 70 68 699
miss (0] (0] 2 4 0 0 0 1 1 3 11
Ave 1.000 1.000 0.972 0.944 1.000 1.000 1.000 0.986 0.986 0.958( 0.985
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F A12 FFEFTA 3D 1MHE

| A B C D E class

abel @ @ @ @ @ @ @ @ @ @ | wwm
& 0 0 0 0 0 33 0 0 0 0 0 0.9
[P 1 28 1 1 1 1 1 1 1 1 1 0.9
> 2 2 2 2 38 2 2 2 2 2 2 0.9
Z 3 3 3 3 3 3 3 3 3 3 3 1
ES 4 4 4 4 4 4 4 4 4 4 4 1
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
(%3 8 8 8 8 8 8 8 8 8 8 8 1
pusk 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
hed 13 13 13 13 13 13 13 13 13 13 13 1
= 14 14 14 14 14 14 14 14 19 14 14 0.9
e 15 15 15 15 15 15 15 15 15 15 15 1
=y 16 16 16 16 16 16 16 16 16 16 16 1
- 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 21 19 19 0.9
75 20 20 20 20 20 20 20 20 20 20 20 1
= 21 21 21 21 21 21 21 21 21 21 21 1
& 22 22 22 22 22 22 22 22 22 22 22 1
4a 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
[ES 25 25 25 25 25 25 25 25 25 25 25 1
w 26 26 26 26 26 26 26 26 26 26 26 1
S 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
F 30 30 30 30 30 30 30 30 30 30 30 1
Fh 31 31 31 31 31 31 31 31 31 31 31 1
i 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
+ 34 34 34 34 34 34 34 34 34 34 34 1
el 35 35 35 35 35 35 35 35 35 35 35 1
(=) 36 36 36 36 36 36 36 36 36 36 36 1
s 37 37 37 37 37 37 37 37 37 37 37 1
L= 38 38 38 38 38 38 38 38 38 38 38 1
D) 39 39 39 39 39 39 39 39 39 39 39 1
=3 40 40 40 40 40 42 40 40 40 40 40 0.9
i 41 41 41 41 41 41 41 41 41 41 41 1
=) 42 42 42 42 42 42 42 42 42 42 42 1
el 43 43 43 43 43 43 43 43 43 43 43 1
% 44 44 44 44 44 44 44 44 44 44 44 1
A 45 45 45 45 45 45 45 45 45 45 45 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
I 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
x 51 51 51 51 51 51 51 51 51 50 51 0.9
(&) 52 52 52 52 52 52 52 52 52 52 52 1
cn 53 53 53 53 53 53 53 53 53 53 53 1
+ 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
=y 57 57 57 57 57 57 57 57 57 57 57 1
> 58 58 58 58 58 58 58 58 58 58 58 1
59 59 59 62 59 59 59 59 59 59 59 0.9
& 60 60 60 60 60 60 60 50 60 60 60 0.9
= 61 61 61 61 61 61 61 61 61 61 61 1
62 62 62 26 62 62 62 62 62 62 62 0.9
SN 63 63 63 63 63 63 63 63 63 63 27 0.9
~ 64 64 64 64 64 64 64 64 64 64 64 1
[E3 65 65 65 65 65 65 65 65 65 65 65 1
£ 66 66 66 66 66 66 66 66 66 66 66 1
o 67 67 67 67 67 67 67 62 67 67 67 0.9
82 68 68 68 68 63 68 68 63 68 68 68 0.8
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 65 70 70 70 65 70 70 70 0.8
answer 70 71 68 69 69 71 67 69 70 70 694
miss 1 0] 3 2 2 0 4 2 1 1 16
Ave 0.986 1.000 0.958 0.972 0.972 1.000 0.944 0.972 0.986 0.986 0.977
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| A B C D E class

abel @ @ @ @ @ @ @ @ @ @ | wwm
& 0 0 0 0 0 0 0 0 0 0 0 1
[P 1 1 1 1 1 1 1 39 1 1 1 0.9
> 2 2 2 2 2 2 2 2 2 2 2 1
Z 3 3 3 3 3 3 3 3 3 3 3 1
ES 4 4 4 4 4 4 4 4 4 4 4 1
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
(%3 8 8 8 8 8 8 8 8 8 8 8 1
pusk 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
hed 13 13 13 13 13 13 13 13 13 13 13 1
= 14 14 14 14 14 14 14 14 14 14 14 1
e 15 15 15 15 15 15 15 15 15 15 15 1
=y 16 16 16 16 16 16 16 16 16 16 16 1
- 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 9 18 18 18 18 18 18 18 18 0.9
& 19 19 19 19 19 19 19 19 19 19 19 1
75 20 20 20 20 20 20 20 20 20 20 20 1
= 21 21 21 21 21 21 21 21 21 21 21 1
& 22 22 22 22 22 22 22 22 22 22 22 1
4a 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
[ES 25 25 25 25 25 25 25 25 25 25 25 1
w 26 26 26 26 26 26 26 26 26 26 26 1
S 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
F 30 30 30 30 30 30 30 30 30 30 30 1
Fh 31 31 31 31 31 31 31 31 31 31 31 1
i 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
+ 34 34 34 34 34 34 34 34 34 34 34 1
el 35 35 35 35 35 35 35 35 35 35 35 1
(=) 36 36 36 36 36 36 36 36 36 36 36 1
s 37 37 37 37 37 37 37 37 37 37 37 1
L= 38 38 38 38 38 38 38 36 38 38 38 0.9
D) 39 39 39 39 39 39 39 39 39 39 39 1
=3 40 40 40 40 40 40 40 40 40 40 40 1
i 41 41 41 41 41 41 41 41 41 41 41 1
=) 42 42 42 42 42 42 42 42 42 42 42 1
el 43 43 43 43 43 43 43 43 43 43 43 1
% 44 44 44 44 44 44 44 44 44 44 44 1
A 45 45 45 45 45 45 45 45 45 45 45 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
I 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
x 51 51 51 51 51 51 51 51 51 51 51 1
(&) 52 52 52 52 52 52 52 52 52 52 52 1
cn 53 53 53 53 53 53 53 53 53 53 53 1
+ 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
=y 57 57 57 57 57 57 57 57 57 57 57 1
> 58 58 58 58 58 58 58 58 58 58 58 1
59 59 59 62 62 59 59 59 59 59 59 0.8
& 60 60 60 60 60 60 60 50 60 60 60 0.9
= 61 61 61 61 61 61 61 61 61 61 61 1
62 62 62 62 62 62 62 62 62 62 62 1
SN 63 63 63 63 63 63 63 63 63 63 27 0.9
~ 64 64 64 64 64 64 64 64 64 64 64 1
[E3 65 65 65 65 65 65 65 65 65 65 65 1
£ 66 66 66 66 66 66 66 66 66 66 66 1
o 67 67 67 67 67 67 67 67 67 67 67 1
82 68 68 68 68 63 68 68 63 68 68 68 0.8
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 65 70 70 70 70 70 70 70 0.9
answer 71 70 69 69 71 71 67 71 71 70 700
miss 0 1 2 2 (0] 0 4 (0] 0 1 10
Ave 1.000 0.986 0.972 0.972 1.000 1.000 0.944 1.000 1.000 0.986 0.986
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| A B C D E class

abel @ @ @ @ @ @ @ @ @ @ | wwm
& 0 0 0 0 33 0 0 0 0 0 0.9
[P 1 1 1 1 1 1 1 1 1 1 1 1
> 2 2 2 38 38 2 2 2 2 2 2 0.8
Z 3 3 3 3 3 3 3 3 3 3 3 1
ES 4 4 4 4 5 4 4 4 4 4 4 0.9
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
(%3 8 8 8 8 8 8 8 8 8 8 8 1
pusk 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
hed 13 13 13 13 13 13 13 13 13 13 13 1
= 14 14 14 14 14 14 14 14 14 14 14 1
e 15 15 15 15 15 15 15 15 15 15 15 1
=y 16 16 16 16 16 16 16 16 16 16 16 1
- 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 21 19 19 0.9
75 20 20 20 20 20 20 20 20 20 20 20 1
= 21 21 21 21 21 21 21 21 21 21 21 1
& 22 22 22 22 22 22 22 22 22 22 22 1
4a 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
[ES 25 25 25 25 25 25 25 25 25 25 25 1
w 26 26 26 26 26 26 26 26 26 26 26 1
S 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
F 30 30 30 30 30 30 30 30 30 30 30 1
Fh 31 31 31 31 31 31 31 31 31 31 31 1
i 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
+ 34 10 34 34 34 34 34 34 34 34 34 0.9
el 35 35 35 35 35 35 35 35 35 35 35 1
(=) 36 36 36 36 36 36 36 36 36 36 36 1
s 37 37 37 37 37 37 37 37 37 37 37 1
L= 38 38 38 38 38 38 38 38 38 38 38 1
D) 39 39 39 39 39 39 39 39 39 39 39 1
=3 40 40 40 40 40 40 40 40 40 40 40 1
i 41 41 41 41 41 41 41 41 41 41 41 1
=) 42 42 42 42 42 42 42 42 42 42 42 1
el 43 43 43 43 43 43 43 43 43 43 43 1
% 44 44 44 44 44 44 44 44 44 44 44 1
A 45 45 45 45 45 45 45 45 45 45 45 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
I 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
x 51 51 51 51 51 51 51 51 51 51 51 1
(&) 52 52 52 52 52 52 52 52 52 52 52 1
cn 53 53 53 53 53 53 53 53 53 53 53 1
+ 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
=y 57 57 57 57 57 57 57 57 57 57 57 1
> 58 58 58 58 58 58 58 58 58 58 58 1
59 59 59 26 62 59 59 59 59 59 59 0.8
& 60 50 60 60 60 60 60 50 60 60 60 0.8
= 61 61 61 61 61 61 61 61 61 61 61 1
62 62 62 62 62 62 62 62 62 62 26 0.9
SN 63 63 63 63 63 63 63 63 63 63 27 0.9
~ 64 64 64 64 64 64 64 64 64 64 64 1
[E3 65 65 65 65 65 65 65 65 65 65 29 0.9
£ 66 66 66 66 66 66 66 66 66 66 66 1
o 67 67 67 67 67 67 67 67 67 67 67 1
82 68 68 68 68 63 68 68 68 68 68 68 0.9
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 65 70 70 70 65 70 70 70 0.8
answer 69 71 68 67 70 71 69 70 71 68 694
miss 2 0] 3 4 1 0 2 1 0 3 16
Ave 0.972 1.000 0.958 0.944 0.986 1.000 0.972 0.986 1.000 0.958 0.977
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A B C D E class

fabel @ @ @ @ @ @ @ @ @ @ 1
E2) 0 0 0 0 0 0 0 0 0 0 0 1
L 1 1 1 1 1 1 1 1 1 1 1 1
> 2 2 2 2 2 2 2 2 2 2 2 1
z 3 3 3 3 3 3 3 3 3 3 3 1
ES 4 4 4 4 4 4 4 4 4 4 4 1
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
(52 8 8 8 8 8 8 8 8 8 8 8 1
Pusl 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
hed 13 13 13 13 13 13 13 13 13 13 13 1
= 14 14 14 14 14 14 14 14 19 14 14 0.9
7= 15 15 15 15 15 15 15 15 15 15 15 1
=y 16 16 16 16 16 16 16 16 16 16 16 1
=l 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 21 19 19 0.9
7 20 20 20 20 20 20 20 20 20 20 20 1
= 21 21 21 21 21 21 21 21 21 21 21 1
& 22 22 22 22 22 22 22 22 22 22 22 1
4a 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
[£S 25 25 25 25 25 25 25 25 25 25 25 1
W 26 26 26 26 26 26 26 26 26 26 26 1
N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
F 30 30 30 30 30 30 30 37 30 30 30 0.9
Fh 31 31 31 31 31 31 31 31 31 31 31 1
i 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
+ 34 15 34 34 34 34 34 34 34 34 34 0.9
e 35 35 35 35 35 35 35 35 35 35 35 1
(=3 36 36 36 36 36 36 36 36 36 36 36 1
& 37 37 37 37 37 37 37 37 37 37 37 1
=) 38 38 38 38 38 38 38 38 38 38 38 1
D) 39 39 39 39 39 39 39 39 39 39 39 1
> 40 40 40 40 40 40 40 40 40 40 40 1
i 41 41 41 41 41 41 41 41 41 41 41 1
) 42 42 42 42 42 42 42 42 42 42 42 1
> 43 43 43 43 43 43 43 43 43 43 43 1
= | 44 24 a4 44 44 44 44 44 24 24 a4 1
% | a5 25 25 25 25 25 25 25 25 25 25 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
(%8 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
= 51 51 51 51 51 51 51 51 51 51 51 1
C 52 52 52 52 52 52 52 52 52 52 52 1
= 53 53 53 53 53 53 53 46 53 53 53 0.9
= 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
=) 57 57 57 57 57 57 57 57 57 57 57 1
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 62 59 59 59 59 59 59 59 0.9
& 60 59 60 60 60 60 60 50 60 60 60 0.8
£ 61 61 61 61 61 61 61 61 61 61 61 1
o 62 62 62 62 62 62 62 62 62 62 62 1
S 63 63 63 63 63 63 63 63 63 63 63 1
~ 64 64 64 64 64 64 64 64 64 64 64 1
[E3 65 65 65 65 65 65 65 65 65 65 65 1
(=3 66 66 66 66 66 66 66 66 66 66 66 1
o 67 67 67 67 67 67 67 67 67 67 67 1
88 68 68 68 68 63 68 68 63 68 68 68 0.8
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 65 70 70 70 70 70 70 70 0.9
answer 69 71 69 70 71 71 67 69 71 71 699

miss 2 0 2 1 (0] (0] 4 2 0 0 11

Ave 0.972 1.000 0.972 0.986 1.000 1.000 0.944 0.972 1.000 1.000 0.985

51




F Al6e FHEFTL3D5MEHE

A B C D E class

fabel &) @ @ > ©) @ &) @ ) @ @
E2) 0 0 0 0 0 0 0 0 0 0 0 1
L 1 28 1 1 1 1 1 1 1 1 1 0.9
> 2 2 2 2 2 2 2 2 2 2 2 1
z 3 3 3 3 3 3 3 3 3 3 3 1
ES 4 4 4 4 5 4 4 4 4 4 4 0.9
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
(52 8 8 8 8 8 8 8 8 8 8 8 1
Pusl 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 6 10 10 10 10 0.9
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
hed 13 13 13 13 13 13 13 13 13 13 13 1
z 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
B 16 16 16 16 16 16 16 16 16 16 16 1
=l 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
75 20 20 20 20 20 20 20 20 20 20 20 1
= 21 21 21 21 21 21 21 21 21 21 21 1
& 22 22 22 22 22 22 22 22 22 22 22 1
42 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
[£S 25 25 25 25 25 25 25 25 25 25 25 1
W 26 26 26 26 26 26 26 26 26 26 26 1
N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
F 30 30 30 30 30 30 30 30 30 30 30 1
I 31 31 31 31 31 31 31 31 31 31 31 1
i 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
+ 34 34 34 34 14 34 34 34 34 34 34 0.9
x> 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
& 37 37 37 37 37 37 37 37 37 37 37 1
=) 38 38 38 38 38 38 38 36 38 38 38 0.9
D) 39 39 39 39 39 39 39 39 39 39 39 1
% 40 40 40 40 40 40 40 40 40 40 40 1
i 41 41 41 41 41 41 41 41 41 41 41 1
) 42 42 42 42 42 42 42 42 42 42 42 1
> 43 43 43 43 43 43 43 43 43 43 43 1
%= | 44 44 44 a4 a4 a4 a4 a4 44 44 44 1
4 | 45 45 45 45 45 45 45 45 45 45 45 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
(%8 49 49 49 49 49 49 49 49 49 49 49 1
pus 50 50 50 50 50 50 50 50 50 50 50 1
= 51 51 51 51 51 51 51 51 51 51 51 1
C 52 52 52 52 52 52 52 52 52 52 52 1
R 53 53 53 53 53 53 53 53 53 53 53 1
hes 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
=y 57 57 57 57 57 57 57 57 57 57 57 1
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 26 59 59 59 59 59 59 59 0.9
& 60 60 60 60 60 60 60 60 60 60 60 1
£ 61 61 61 61 61 61 61 61 61 61 61 1
[6N 62 62 62 62 62 62 62 62 62 62 26 0.9
SN 63 63 63 63 63 63 63 63 63 63 63 1
~ 64 64 64 64 64 64 64 64 64 64 64 1
[E3 65 65 70 70 65 65 65 65 65 65 65 0.8
(=3 66 66 66 66 61 66 66 66 66 66 66 0.9
o 67 67 67 67 62 67 67 67 67 67 67 0.9
w82 68 68 68 63 63 68 68 63 68 68 68 0.7
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 65 70 70 70 70 70 70 70 0.9
answer 70 70 67 66 71 70 69 71 71 70 695

miss 1 1 4 5 (0] 1 2 0 0 1 15

Ave 0.986 0.986 0.944 0.930 1.000 0.986 0.972 1.000 1.000 0.986 0.979
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| A B C D E class
abel @ ) @ @ @ @ @ @ @ @ | wwim
& [0} 0 0 0 [0} 0 0 [0} 0 0 0 1
[ 1 28 1 1 1 1 1 39 1 1 1 0.8
> 2 2 2 2 2 2 2 2 2 2 2 1
= 3 3 3 3 3 3 3 3 3 3 3 1
ES) 4 4 4 4 4 4 4 5 4 4 4 0.9
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
o 8 8 8 8 8 8 8 8 8 8 8 1
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
+ 13 13 13 13 13 13 13 13 13 13 13 1
= 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
=Y 16 16 16 16 16 16 16 16 16 16 16 1
- 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
75 20 20 20 20 20 20 20 20 20 20 20 1
= 21 21 21 21 21 21 21 21 21 21 21 1
¥ 22 22 22 22 22 33 22 22 22 22 22 0.9
A 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
(=3 25 25 25 25 25 25 25 25 25 25 25 1
(o8 26 26 26 26 26 26 26 26 26 26 26 1
S 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 30 30 30 30 1
Fr 31 31 31 31 31 31 31 31 31 31 31 1
iy 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
E3) 34 34 34 34 34 34 34 34 34 34 34 1
hed 35 35 35 35 35 35 35 33 35 35 35 0.9
b 36 36 36 36 36 36 36 36 36 36 36 1
X 37 37 37 37 37 37 37 37 37 37 37 1
>3 38 38 38 38 38 38 38 38 38 38 38 1
D) 39 39 39 39 39 39 39 39 39 39 39 1
=) 40 40 40 40 40 40 40 40 40 40 40 1
AL 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
Eel 43 43 43 43 43 43 43 43 43 43 43 1
% 44 44 44 44 44 44 44 44 44 44 44 1
A 45 45 45 45 45 45 45 45 45 45 45 1
e 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
I 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
x 51 51 51 51 51 51 51 51 51 51 51 1
C 52 52 52 52 52 52 52 52 52 52 52 1
R 53 53 53 53 53 53 53 53 53 53 53 1
& 54 54 54 54 54 54 54 54 54 54 54 1
=z 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
B 57 57 57 57 57 57 57 57 57 57 57 1
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 26 62 59 59 59 59 59 59 0.8
& 60 60 60 60 60 60 60 60 60 60 60 1
(=4 61 61 61 61 61 61 61 61 61 61 61 1
o 62 62 62 26 62 62 62 62 62 62 26 0.8
83 63 63 63 63 27 63 63 63 63 63 27 0.8
~ 64 64 64 64 64 64 64 64 64 64 64 1
(£ 65 65 65 65 65 65 65 65 65 65 29 0.9
(=3 66 66 66 66 66 66 66 66 66 66 66 1
N 67 67 67 67 67 67 67 67 67 67 67 1
82 68 68 68 68 63 68 68 63 68 68 68 0.8
~ 69 69 69 69 69 69 69 69 69 69 69 1
Ix 70 70 70 65 70 70 70 65 70 70 70 0.8
answer 70 71 68 68 70 71 66 71 71 68 694
miss 1 0 3 3 1 (0] 5 0 (0] 3 16
Ave 0.986 1.000 0.958 0.958 0.986 1.000 0.930 1.000 1.000 0.958| 0.977
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| A B C D E class
abel @ ) @ @ @ @ @ @ @ @ | wwim
& [0} 0 0 0 [0} 0 33 [0} 0 0 0 0.9
[ 1 28 1 1 1 1 1 1 1 1 1 0.9
> 2 2 2 2 38 2 2 2 2 2 2 0.9
= 3 3 3 3 3 3 3 3 3 3 3 1
ES) 4 4 4 4 4 4 4 4 4 4 4 1
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
o 8 8 8 8 8 8 8 8 8 8 8 1
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
+ 13 13 13 13 13 13 13 13 13 13 13 1
= 14 14 14 14 14 14 14 14 18 14 14 0.9
7= 15 15 15 15 15 15 15 15 15 15 15 1
=Y 16 16 16 16 16 16 16 16 16 16 16 1
- 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
75 20 20 20 20 20 20 20 20 20 20 20 1
= 21 21 21 21 21 21 21 21 21 21 21 1
¥ 22 22 22 22 22 22 22 22 22 22 22 1
A 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
(=3 25 25 25 25 25 25 25 25 25 25 25 1
(o8 26 26 26 26 26 26 26 26 26 26 26 1
S 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 37 30 30 30 0.9
Fr 31 31 31 31 31 31 31 31 31 31 31 1
iy 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
E3) 34 34 34 34 34 34 34 34 34 34 34 1
el 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
X 37 37 37 37 37 37 37 37 37 37 37 1
>3 38 38 38 38 38 38 38 38 38 38 38 1
D) 39 39 39 39 39 39 39 39 39 39 39 1
=) 40 40 40 40 40 40 40 40 40 40 40 1
AL 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
Eel 43 43 43 43 43 43 43 43 43 43 43 1
%= | 44 a4 24 44 44 24 44 44 24 44 24 1
7 | a5 25 25 25 25 25 25 25 25 25 25 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
(%8 49 49 49 49 49 49 49 49 49 49 49 1
g 50 50 50 50 50 50 50 50 50 50 50 1
= 51 51 51 51 51 51 51 51 51 51 51 1
C 52 52 52 52 52 52 52 52 52 52 52 1
=N 53 53 53 53 53 53 53 53 53 53 53 1
= 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
B 57 57 57 57 57 57 57 57 57 57 57 1
- 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 26 59 59 59 59 59 59 59 0.9
& 60 50 60 60 60 60 60 60 60 60 60 0.9
(=S 61 61 61 61 61 61 61 61 61 61 61 1
o 62 62 62 62 62 62 62 62 62 62 26 0.9
83 63 63 63 63 63 63 63 63 63 63 27 0.9
~ 64 64 64 64 64 64 64 64 64 64 64 1
(£ 65 65 65 65 65 65 65 65 65 65 65 1
(=3 66 66 66 66 66 66 66 66 66 66 66 1
N 67 67 67 67 67 67 67 67 67 67 67 1
82 68 68 68 63 63 68 68 68 68 68 68 0.8
~ 69 69 69 69 69 69 69 69 69 69 69 1
Ix 70 70 70 65 70 70 70 70 70 70 70 0.9
answer 69 71 68 69 71 70 70 70 71 69 698
miss 2 0 3 2 0 1 1 1 (0] 2 12
Ave 0.972 1.000 0.958 0.972 1.000 0.986 0.986 0.986 1.000 0.972| 0.983
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* A19

¥FE70r4 D 3EE

| A B C D E class
abel @ ) @ @ @ @ @ @ @ @ | wwim
& [0} 0 0 0 [0} 0 0 [0} 0 0 0 1
[ 1 28 1 1 1 1 1 1 1 1 1 0.9
> 2 2 2 2 38 2 2 2 2 2 2 0.9
= 3 3 3 3 3 3 3 3 3 3 3 1
ES) 4 4 4 4 4 4 4 4 4 4 4 1
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
o 8 8 8 8 8 8 8 8 8 8 8 1
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
+ 13 13 13 13 13 13 13 13 13 13 13 1
= 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
=Y 16 16 16 16 16 16 16 16 16 16 16 1
- 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 21 19 19 0.9
75 20 20 20 20 20 20 20 20 20 20 20 1
= 21 21 21 21 21 21 21 21 21 21 21 1
¥ 22 22 22 22 22 22 22 22 22 22 22 1
A 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
(=3 25 25 25 25 25 25 25 25 25 25 25 1
(o8 26 26 26 26 26 26 26 26 26 26 26 1
S 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 30 30 30 30 1
Fr 31 31 31 31 31 31 31 31 31 31 31 1
iy 32 28 32 32 32 32 32 32 32 32 32 0.9
& 33 33 33 33 33 33 33 33 33 33 33 1
E3) 34 34 34 34 34 34 34 34 34 34 34 1
el 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
X 37 37 37 37 37 37 37 37 37 37 37 1
>3 38 38 38 38 38 38 38 38 38 38 38 1
D) 39 39 39 39 39 39 39 39 39 39 39 1
=) 40 40 40 40 40 40 40 40 40 40 40 1
AL 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
Eel 43 43 43 43 43 43 43 43 43 43 43 1
%= | 44 a4 24 44 44 24 44 44 24 44 24 1
7 | a5 25 25 25 25 25 25 25 25 25 25 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
(%8 49 49 49 49 49 49 49 49 49 49 49 1
g 50 50 50 50 50 50 50 50 50 50 50 1
= 51 51 51 51 51 51 51 51 51 51 51 1
C 52 52 52 52 52 52 52 52 52 52 52 1
=N 53 53 53 53 53 53 53 53 53 53 53 1
= 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 47 55 55 55 0.9
7= 56 56 56 56 56 56 56 56 56 56 56 1
B 57 57 57 57 57 57 57 57 57 57 57 1
- 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 59 59 59 59 59 59 59 59 1
& 60 60 60 60 60 60 60 60 60 60 60 1
(=S 61 61 61 61 61 61 61 61 61 61 61 1
o 62 62 62 62 62 62 62 62 62 62 26 0.9
83 63 63 63 63 63 63 63 63 63 63 27 0.9
~ 64 64 64 64 64 64 64 64 64 64 64 1
(£ 65 65 65 65 65 65 65 65 65 65 70 0.9
(=3 66 66 66 66 66 66 66 66 66 66 66 1
N 67 67 67 67 67 67 67 67 62 67 67 0.9
82 68 68 68 68 63 68 68 68 68 68 68 0.9
~ 69 69 69 69 69 69 69 69 69 69 69 1
Ix 70 70 70 65 70 70 70 65 70 70 70 0.8
answer 69 71 70 69 71 71 69 69 71 68 698
miss 2 0 1 2 0 (0] 2 2 (0] 3 12
Ave 0.972 1.000 0.986 0.972 1.000 1.000 0.972 0.972 1.000 0.958| 0.983
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F A20 FHETNLV4D4MHHE

A B C D E class
label S} @ ) 5) ) 5) &) &) &) > |
23 0 0 0 0 0 33 0 0 0 0 0 0.9
Y 1 28 1 1 1 1 1 1 1 1 1 0.9
> 2 2 2 2 2 2 2 2 2 2 2 1
= 3 3 3 3 3 3 3 3 3 3 3 1
ES) 4 4 4 4 4 4 4 4 4 4 4 1
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
F 8 8 8 8 39 8 8 8 8 8 8 0.9
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
+ 13 13 13 13 13 13 13 13 13 13 13 1
z= 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
k=Y 16 16 16 16 16 16 16 16 16 16 16 1
=l 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 21 19 19 0.9
75 20 20 20 20 20 20 20 20 20 20 20 1
2= 21 21 21 21 21 21 21 21 21 21 21 1
-~ 22 22 22 22 22 22 22 22 22 22 22 1
Aa 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
[=3 25 25 25 25 25 25 25 25 25 25 25 1
(o8 26 26 26 26 26 26 26 26 26 26 26 1
N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 30 30 30 30 1
Fr 31 31 31 31 31 31 31 31 31 31 31 1
ki 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
£ 34 15 34 34 34 34 34 34 34 34 34 0.9
el 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
& 37 37 37 37 37 37 37 37 37 37 37 1
=3 38 38 38 38 38 38 38 38 38 38 38 1
D) 39 39 39 39 39 39 39 39 39 39 39 1
) 40 40 40 40 40 40 40 40 40 40 40 1
A 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
el 43 43 43 43 43 43 43 43 43 43 43 1
%= | 44 44 44 44 44 44 44 44 44 44 44 1
A | 45 45 25 25 25 25 25 25 45 25 25 1
A | 46 26 26 26 46 26 26 26 46 26 26 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
(52 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
x 51 51 51 51 51 51 51 51 51 51 51 1
C 52 52 52 52 52 52 52 52 52 52 52 1
=N 53 53 53 53 53 53 53 53 53 53 53 1
ke 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
=) 57 57 57 57 57 46 57 57 57 57 57 0.9
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 26 59 59 59 59 59 59 59 0.9
& 60 60 60 60 60 60 60 50 60 60 60 0.9
(£ 61 61 61 61 61 61 61 61 61 61 61 1
[6) 62 62 62 62 62 62 62 62 62 62 59 0.9
SR 63 63 63 63 63 63 63 63 63 63 63 1
~ 64 64 64 64 64 64 64 64 64 64 64 1
[E3 65 65 65 65 65 65 65 65 65 65 65 1
(=4 66 66 66 66 66 66 66 66 66 66 66 1
[} 67 67 67 67 67 67 67 67 62 67 67 0.9
83 68 68 68 68 63 68 68 68 68 68 68 0.9
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 65 70 70 70 65 70 70 70 0.8
answer 69 71 69 69 69 71 69 69 71 70 697
miss 2 (0] 2 2 2 0 2 2 (0] 1 13
Ave 0.972 1.000 0.972 0.972 0.972 1.000 0.972 0.972 1.000 0.986| 0.982
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F A21 FHETNV405MHHE

A B C D E class
label S} @ ) 5) ) 5) &) &) &) > |
23 0 0 0 0 0 0 0 0 0 0 0 1
Y 1 1 1 1 1 1 1 1 1 1 1 1
> 2 2 2 2 2 2 2 2 2 2 2 1
= 3 3 3 3 3 3 3 3 3 3 3 1
ES) 4 4 4 4 5 4 4 5 4 4 4 0.8
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
F 8 8 8 8 8 8 8 8 8 8 8 1
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
+ 13 13 13 13 13 13 13 13 13 13 13 1
z= 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
k=Y 16 16 16 16 16 16 16 16 16 16 16 1
=l 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
75 20 20 20 20 20 20 20 20 20 20 20 1
2= 21 21 21 21 21 21 21 21 21 21 21 1
-~ 22 22 22 22 22 22 22 22 22 22 22 1
Aa 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
[=3 25 25 25 25 25 25 25 25 25 25 25 1
(o8 26 26 26 26 26 26 26 26 26 26 26 1
N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 37 30 30 30 0.9
Fr 31 31 31 31 31 31 31 31 31 31 31 1
ki 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
£ 34 34 34 34 34 34 34 34 34 34 34 1
el 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
& 37 37 37 37 37 37 37 37 37 37 37 1
=3 38 38 38 38 38 38 38 38 38 38 38 1
D) 39 39 39 39 39 39 39 39 39 39 39 1
) 40 40 40 40 40 40 40 40 40 40 40 1
A 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
el 43 43 43 43 43 43 43 43 43 43 43 1
%= | 44 44 44 44 44 44 44 44 44 44 44 1
A | 45 45 25 25 25 25 25 25 45 25 25 1
A | 46 26 26 26 46 26 26 26 46 26 26 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
(52 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
x 51 51 51 51 51 51 51 51 51 51 51 1
C 52 52 52 52 52 52 52 52 52 52 52 1
=N 53 53 53 53 53 53 53 53 53 53 53 1
ke 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
=) 57 57 57 57 57 57 57 57 57 57 57 1
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 26 59 59 59 59 59 59 59 0.9
& 60 50 60 60 60 60 60 50 60 60 60 0.8
(£ 61 61 61 61 61 61 61 61 61 61 61 1
[6) 62 62 62 62 62 62 62 62 62 62 62 1
SR 63 63 63 63 63 63 63 63 63 63 27 0.9
~ 64 64 64 64 64 64 64 64 64 64 64 1
[E3 65 65 65 65 65 65 65 65 65 65 65 1
(=4 66 66 66 66 61 66 66 66 66 66 66 0.9
[} 67 67 67 67 62 67 67 67 62 67 67 0.8
83 68 68 68 63 63 68 68 63 68 68 68 0.7
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 65 70 70 70 70 70 70 70 0.9
answer 70 71 68 67 71 71 67 70 71 70 696
miss 1 (0] 3 4 0 0 4 1 (0] 1 14
Ave 0.986 1.000 0.958 0.944 1.000 1.000 0.944 0.986 1.000 0.986| 0.980
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F& A22 FF=EFTAL5D1MHE

| A B C D E class
abel @ ) @ @ @ @ @ @ @ @ | wwim
& [0} 0 0 0 [0} 0 0 [0} 0 0 0 1
[ 1 1 1 1 1 1 1 1 1 1 1 1
> 2 2 2 2 2 2 2 2 2 2 2 1
= 3 3 3 3 3 3 3 3 3 3 3 1
ES) 4 4 4 4 4 4 4 4 4 4 4 1
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
o 8 8 8 8 8 8 8 8 8 8 8 1
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
+ 13 13 13 13 13 13 13 13 13 13 13 1
= 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
=Y 16 16 16 16 16 16 16 16 16 16 16 1
- 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 9 18 18 18 18 18 18 18 18 0.9
& 19 19 19 19 19 19 19 19 19 19 19 1
75 20 20 20 20 20 20 20 20 20 20 20 1
= 21 21 21 21 21 21 21 21 21 21 21 1
¥ 22 22 22 22 22 22 22 22 22 22 22 1
A 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
(=3 25 25 25 25 25 25 25 25 25 25 25 1
(o8 26 26 26 26 26 26 26 26 26 26 26 1
S 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 30 30 30 30 1
Fr 31 31 31 31 31 31 31 31 31 31 31 1
iy 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
E3) 34 34 34 34 34 34 34 34 34 34 34 1
hed 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
X 37 37 37 37 37 37 37 37 37 37 37 1
>3 38 38 38 38 38 38 38 38 38 38 38 1
D) 39 39 39 39 39 39 39 39 39 39 39 1
=) 40 40 40 40 40 40 40 40 40 40 40 1
AL 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
Eel 43 43 43 43 43 43 43 43 43 43 43 1
%= | 44 a4 24 44 44 24 44 44 24 44 24 1
7 | a5 25 25 25 25 25 25 25 25 25 25 1
e 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
I 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
x 51 51 51 51 51 51 51 51 51 51 51 1
C 52 52 52 52 52 52 52 52 52 52 52 1
R 53 53 53 53 53 53 53 53 53 53 53 1
& 54 54 54 54 54 54 54 54 54 54 54 1
=z 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
B 57 57 57 57 57 57 57 57 57 57 57 1
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 26 62 59 59 59 59 59 59 0.8
& 60 60 60 60 60 60 60 60 60 60 60 1
(=4 61 61 61 61 61 61 61 61 61 61 61 1
o 62 62 62 62 62 62 62 62 62 62 26 0.9
83 63 63 63 63 63 63 63 63 63 63 27 0.9
~ 64 64 64 69 64 64 64 64 64 64 64 0.9
(£ 65 65 65 65 65 65 65 65 65 65 65 1
(=3 66 66 66 66 66 66 66 66 66 66 66 1
N 67 67 67 67 67 67 67 67 67 67 67 1
82 68 68 68 68 63 68 68 63 68 68 68 0.8
~ 69 69 69 69 69 69 69 69 69 69 69 1
Ix 70 70 70 65 70 70 70 65 70 70 70 0.8
answer 71 70 68 69 71 71 69 71 71 69 700
miss [0} 1 3 2 0 (0] 2 0 (0] 2 10
Ave 1.000 0.986 0.958 0.972 1.000 1.000 0.972 1.000 1.000 0.972| 0.986
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#F A23 EF=EFTN5D2MHE

| A B C D E class
abel @ ) @ @ @ @ @ @ @ @ | wwim
& [0} 0 0 0 [0} 33 0 [0} 0 0 0 0.9
[ 1 1 1 1 1 1 1 1 1 1 1 1
> 2 2 2 2 2 2 2 2 2 2 2 1
= 3 3 3 3 3 3 3 3 3 3 3 1
ES) 4 4 4 4 4 4 4 4 4 4 4 1
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
o 8 8 8 8 8 8 8 8 8 8 8 1
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
+ 13 13 13 13 13 13 13 13 13 13 13 1
= 14 14 14 14 14 14 14 14 18 14 14 0.9
7= 15 15 15 15 15 15 15 15 15 15 15 1
=Y 16 16 16 16 16 16 16 16 16 16 16 1
- 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 9 18 18 18 18 18 18 18 18 0.9
& 19 19 19 19 19 19 19 19 19 19 19 1
75 20 20 20 20 20 20 20 20 20 20 20 1
= 21 21 21 21 21 21 21 21 21 21 21 1
¥ 22 22 22 22 22 22 22 22 22 22 22 1
A 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
(=3 25 25 25 25 25 25 25 25 25 25 25 1
(o8 26 26 26 26 26 26 26 26 26 26 26 1
S 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 30 30 30 30 1
Fr 31 31 31 31 31 31 31 31 31 31 31 1
iy 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 B5) 33 33 0.9
E3) 34 34 34 34 34 34 34 34 34 34 34 1
hed 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
X 37 37 37 37 37 37 37 37 37 37 37 1
>3 38 38 38 38 38 38 38 38 38 38 38 1
D) 39 39 39 39 39 39 39 39 39 39 39 1
=) 40 40 40 40 40 40 40 40 40 40 40 1
AL 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 2 42 42 42 0.9
Eel 43 43 43 43 43 43 43 43 43 43 43 1
% 44 44 44 44 44 44 44 44 44 44 44 1
A 45 45 45 45 45 45 45 45 45 45 45 1
e 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
I 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
x 51 51 51 51 51 51 51 51 51 50 50 0.8
C 52 52 52 52 52 52 52 52 52 52 52 1
R 53 53 53 53 53 53 53 46 53 53 53 0.9
& 54 54 54 54 54 54 54 54 54 54 54 1
=z 55 55 55 55 55 55 55 47 55 55 55 0.9
7= 56 56 56 56 56 56 56 56 56 56 56 1
B 57 57 57 57 57 57 57 57 57 57 57 1
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 59 59 59 59 59 59 59 59 1
& 60 60 60 60 60 60 60 50 60 60 60 0.9
(=4 61 61 61 61 61 61 61 61 61 61 61 1
W 62 62 62 62 62 62 62 62 62 62 62 1
83 63 63 63 63 63 63 63 63 63 63 63 1
~ 64 64 64 64 64 64 64 64 64 64 64 1
(£ 65 65 65 65 65 65 65 65 65 65 70 0.9
(=3 66 66 66 66 66 66 66 66 66 66 66 1
N 67 67 67 67 67 67 67 67 62 67 67 0.9
82 68 68 68 63 63 68 68 68 68 68 68 0.8
~ 69 69 69 69 69 69 69 69 69 69 69 1
Ix 70 70 70 65 70 70 70 65 70 70 70 0.8
answer 71 70 69 70 70 71 66 68 70 69 694
miss [0} 1 2 1 1 (0] 5 3 1 2 16
Ave 1.000 0.986 0.972 0.986 0.986 1.000 0.930 0.958 0.986 0.972| 0.977

59




* A.24

2REFL 5D 3EHE

| A B C D E class
abel @ ) @ @ @ @ @ @ @ @ | wwim
& [0} 0 0 0 [0} 0 0 [0} 0 0 0 1
[ 1 1 1 1 1 1 1 1 1 1 1 1
> 2 2 2 38 38 2 2 2 2 2 2 0.8
= 3 3 3 3 3 3 3 3 3 3 3 1
ES) 4 4 4 4 5 4 4 4 4 4 4 0.9
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
o 8 8 8 8 8 8 8 8 8 8 8 1
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
+ 13 13 13 13 13 13 13 13 13 13 13 1
= 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
=Y 16 16 16 16 16 16 16 16 16 16 16 1
- 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
75 20 20 20 20 20 20 20 20 20 20 20 1
= 21 21 21 21 21 21 21 21 21 21 21 1
¥ 22 22 22 22 22 22 22 22 22 22 22 1
A 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
(=3 25 25 25 25 25 25 25 25 25 25 25 1
(o8 26 26 26 26 26 26 26 26 26 26 26 1
S 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 37 30 30 30 0.9
Fr 31 31 31 31 31 31 31 31 31 31 31 1
iy 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
E3) 34 34 34 34 34 34 34 34 34 34 34 1
el 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
X 37 37 37 37 37 37 37 37 37 37 37 1
>3 38 38 38 38 38 38 38 38 38 38 38 1
D) 39 39 39 39 39 39 39 39 39 39 39 1
=) 40 40 40 40 40 40 40 40 40 40 40 1
AL 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
Eel 43 43 43 43 43 43 43 43 43 43 43 1
%= | 44 a4 24 44 44 24 44 44 24 44 24 1
7 | a5 25 25 25 25 25 25 25 25 25 25 1
HY 46 46 46 46 46 46 46 46 46 46 46 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
(%8 49 49 49 49 49 49 49 49 49 49 49 1
g 50 50 50 50 50 50 50 50 50 50 50 1
= 51 51 51 51 51 51 51 51 51 51 50 0.9
C 52 52 52 52 52 52 52 52 52 52 52 1
=N 53 53 53 53 53 53 53 53 53 53 53 1
R 54 54 54 54 54 54 54 54 54 54 13 0.9
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
B 57 57 57 57 57 57 57 57 57 57 57 1
- 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 26 62 59 59 59 59 59 59 0.8
& 60 60 60 60 60 60 60 54 60 60 60 0.9
(=S 61 61 61 61 61 61 61 61 61 61 61 1
o 62 62 62 26 62 62 62 62 62 62 62 0.9
83 63 63 63 63 63 63 63 63 63 63 27 0.9
~ 64 64 64 64 64 64 64 64 64 64 64 1
(£ 65 65 65 65 65 65 65 61 61 65 65 0.8
(=3 66 66 66 66 66 66 66 66 66 66 66 1
N 67 67 67 67 67 67 67 67 67 67 67 1
82 68 68 68 68 63 68 68 63 68 68 68 0.8
~ 69 69 69 69 69 69 69 69 69 69 69 1
Ix 70 70 70 65 70 70 70 70 70 70 70 0.9
answer 71 71 67 67 71 71 67 70 71 68 694
miss [0} 0 4 4 0 (0] 4 1 (0] 3 16
Ave 1.000 1.000 0.944 0.944 1.000 1.000 0.944 0.986 1.000 0.958| 0.977
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* A.25

ZHEFL5D4HHE

A B C D E class
label S} @ ) 5) ) 5) &) &) &) > |
23 0 0 0 0 0 0 0 0 0 0 0 1
Y 1 1 1 1 1 1 1 1 1 1 1 1
> 2 2 2 2 2 2 2 2 2 2 2 1
= 3 3 3 3 3 3 3 3 3 3 3 1
ES) 4 4 4 4 4 4 4 58 4 4 4 0.9
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
F 8 8 8 8 8 8 8 8 8 8 8 1
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
+ 13 13 13 13 13 13 13 13 13 13 13 1
z= 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
k=Y 16 16 16 16 16 16 16 16 16 16 16 1
=l 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 18 18 18 18 18 18 18 18 18 1
& 19 19 19 19 19 19 19 19 19 19 19 1
75 20 20 20 20 20 20 20 20 20 20 20 1
2= 21 21 21 21 21 21 21 21 21 21 21 1
-~ 22 22 22 22 22 22 22 22 22 22 22 1
Aa 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
[=3 25 25 25 25 25 25 25 25 25 25 25 1
(o8 26 26 26 26 26 26 26 26 26 26 26 1
N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 30 30 30 30 1
Fr 31 31 31 31 31 31 31 31 31 31 31 1
ki 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
£ 34 34 34 34 34 38 34 34 34 34 34 0.9
el 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
& 37 37 37 37 37 37 37 37 37 37 37 1
=3 38 38 38 38 38 38 38 38 38 38 38 1
D) 39 39 39 39 39 39 39 39 39 39 39 1
) 40 40 40 40 40 40 40 40 40 40 40 1
A 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 42 42 42 42 42 1
el 43 43 43 43 43 43 43 43 43 43 43 1
%= | 44 44 44 44 44 44 44 44 44 44 44 1
A | 45 45 25 25 25 25 25 25 45 25 25 1
A | 46 26 26 26 46 26 26 26 46 26 26 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
(52 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
x 51 51 51 51 51 51 51 51 51 51 51 1
C 52 52 52 52 52 52 52 52 52 52 52 1
=N 53 53 53 53 53 53 53 46 53 53 53 0.9
ke 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
=) 57 57 57 57 57 57 57 57 57 57 57 1
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 26 59 59 59 59 59 59 59 0.9
& 60 60 60 60 60 60 60 60 60 60 60 1
(£ 61 61 61 61 61 61 61 61 61 61 61 1
[6) 62 62 62 26 62 62 62 62 62 62 26 0.8
SR 63 63 63 63 63 63 63 63 63 63 27 0.9
~ 64 64 64 64 64 64 64 64 64 64 64 1
F 65 65 65 65 65 65 65 65 65 65 65 1
(= 66 66 66 66 66 66 66 66 66 66 66 1
[} 67 67 67 67 67 67 67 67 67 67 67 1
83 68 68 68 63 63 68 68 63 68 68 68 0.7
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 70 70 70 70 70 70 70 70 1
answer 71 71 68 70 70 71 68 71 71 69 700
miss (0] (0] 3 1 1 0 3 (0] (0] 2 10
Ave 1.000 1.000 0.958 0.986 0.986 1.000 0.958 1.000 1.000 0.972| 0.986
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F A2 FHETLV5D5MEHE

A B C D E class
label S} @ ) 5) ) 5) &) &) &) > |
23 0 0 0 0 0 0 0 0 0 0 0 1
Y 1 1 1 1 1 1 1 1 1 1 1 1
> 2 2 2 2 2 2 2 2 2 2 2 1
= 3 3 3 3 3 3 3 3 3 3 3 1
ES) 4 4 4 4 5 4 4 4 4 4 4 0.9
H 5 5 5 5 5 5 5 5 5 5 5 1
= 6 6 6 6 6 6 6 6 6 6 6 1
< 7 7 7 7 7 7 7 7 7 7 7 1
F 8 8 8 8 39 8 8 8 8 8 8 0.9
= 9 9 9 9 9 9 9 9 9 9 9 1
= 10 10 10 10 10 10 10 10 10 10 10 1
L 11 11 11 11 11 11 11 11 11 11 11 1
ER 12 12 12 12 12 12 12 12 12 12 12 1
+ 13 13 13 13 13 13 13 13 13 13 13 1
z= 14 14 14 14 14 14 14 14 14 14 14 1
7= 15 15 15 15 15 15 15 15 15 15 15 1
k=Y 16 16 16 16 16 16 16 16 38 16 16 0.9
=l 17 17 17 17 17 17 17 17 17 17 17 1
< 18 18 9 18 18 18 18 18 18 18 18 0.9
& 19 19 19 19 19 19 19 19 19 19 19 1
75 20 20 20 20 20 20 20 20 20 20 20 1
2= 21 21 21 21 21 21 21 21 21 21 21 1
-~ 22 22 22 22 22 22 22 22 22 22 22 1
Aa 23 23 23 23 23 23 23 23 23 23 23 1
D 24 24 24 24 24 24 24 24 24 24 24 1
[=3 25 25 25 25 25 25 25 25 25 25 25 1
(o8 26 26 26 26 26 26 26 26 26 26 26 1
N 27 27 27 27 27 27 27 27 27 27 27 1
~ 28 28 28 28 28 28 28 28 28 28 28 1
[E3 29 29 29 29 29 29 29 29 29 29 29 1
ES 30 30 30 30 30 30 30 37 30 30 30 0.9
Fr 31 31 31 31 31 31 31 31 31 31 31 1
ki 32 32 32 32 32 32 32 32 32 32 32 1
& 33 33 33 33 33 33 33 33 33 33 33 1
£ 34 34 34 34 34 34 34 34 34 34 34 1
el 35 35 35 35 35 35 35 35 35 35 35 1
b 36 36 36 36 36 36 36 36 36 36 36 1
& 37 37 37 37 37 37 37 37 37 37 37 1
=3 38 38 38 38 38 38 38 38 38 38 38 1
D) 39 39 39 39 39 39 39 39 39 39 39 1
) 40 40 40 40 40 40 40 40 40 40 40 1
A 41 41 41 41 41 41 41 41 41 41 41 1
2 42 42 42 42 42 42 2 42 42 42 42 0.9
el 43 43 43 43 43 43 43 43 43 43 43 1
%= | 44 44 44 44 44 44 44 44 44 44 44 1
A | 45 45 25 25 25 25 25 25 45 25 25 1
A | 46 26 26 26 46 26 26 26 46 26 26 1
= 47 47 47 47 47 47 47 47 47 47 47 1
< 48 48 48 48 48 48 48 48 48 48 48 1
(52 49 49 49 49 49 49 49 49 49 49 49 1
= 50 50 50 50 50 50 50 50 50 50 50 1
x 51 51 51 51 51 51 51 51 51 51 50 0.9
C 52 52 52 52 52 52 52 52 52 52 52 1
=N 53 53 53 53 53 53 53 53 53 53 53 1
ke 54 54 54 54 54 54 54 54 54 54 54 1
= 55 55 55 55 55 55 55 55 55 55 55 1
7= 56 56 56 56 56 56 56 56 56 56 56 1
=) 57 57 57 57 57 57 57 57 57 57 57 1
=) 58 58 58 58 58 58 58 58 58 58 58 1
< 59 59 59 26 59 59 59 59 59 59 59 0.9
& 60 60 60 60 60 60 60 60 60 60 60 1
(£ 61 61 61 61 61 61 61 61 61 61 61 1
[6) 62 62 62 62 62 62 62 62 62 62 62 1
SR 63 63 63 63 63 63 63 63 63 63 27 0.9
~ 64 64 64 64 64 64 64 64 64 64 64 1
[E3 65 65 65 65 65 65 65 65 65 65 65 1
(=4 66 66 66 66 61 66 66 66 66 66 66 0.9
[} 67 67 67 67 62 67 67 67 67 67 67 0.9
83 68 68 68 63 63 68 68 63 68 68 68 0.7
~ 69 69 69 69 69 69 69 69 69 69 69 1
[E3 70 70 70 65 70 70 70 70 70 70 70 0.9
answer 71 70 68 66 71 70 69 70 71 69 695
miss (0] 1 3 5 0 1 2 1 (0] 2 15
Ave 1.000 0.986 0.958 0.930 1.000 0.986 0.972 0.986 1.000 0.972| 0.979
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